GENERAL SCIENCE- PHYSICS- ELECTRICITY PART -2

1. By which electric current in a circuit is possible?
foseft uftoy & fage arT frad Twa 22
(a) Neutron speed /=Jgi= Tifd
(b) Positron speed /difareiq nfa
(c) Motion of protons /weld &7 fa
(d) Motion of electrons/gaiagii & Tfd

RRB ALP & Tec. (17-08-18 Shift-I
The electric current in a circuit is made possible by
a motion of free electron.
Its S.I. unit is ampere.
et afrer # e RT e gevaetT 6 1R & T Bl
2l
T S.|. TS TR R

2. Which of these metals is used to make electrical
wires? /g8 T fa a1q &1 IuanT faSTelt & aR a9 &
T Srar 272
(a) Silver /=ridY
(b) Magnesium /8dfifram
(c) Copper /disT
(d) Lead /dtar

RRB Group-D 16-10-2018 (Shift-11)
Copper and Aluminium wires have low resistivity
and they are good conductors of electricity hence
they are usually used for electricity transmission/
electrical wires.
AiY 3R vegefTe & qRT 8 afRaed ou B € ok 3
faSTeft & 31 Hates gl € AfAT T IUTNT AR
W STl grafiem/fga art & faw faar Smar 21

3. What is electromagnetic induction? /fag[d Irrdbia
IRUT T 87

(a) The generation of electric current due to the
relative motion between the coil and the magnetic
field. /Fectt 3R gadbia &7 & ST ATder A & FROT
faeg[a 9T &1 IeTeH|

(b) Generation of electrostatic force due to
relative motion between the coil and the magnetic
field. /gsa 3R gadig &7 & T Arde A F FROT
FoAaCIRe e ST BT IJedTe |

(c) Generation of electric current due to static
current between the coil and the magnetic field.
/st 3R JadhiT & F S AR 9RT F HRoT g arr
BT I g

(d) The generation of electric current due to the
relative motion between the induction motor and
the magnetic field./SRoT AR 3R Jerg & & &
g 1T & HRUT fAgd gRT BT IeqTa

RRB Group-D 05-12-2018 (Shift-11)

Electromagnetic Induction : Whenever the magnetic
lines of force or magnetic field passing through a
closed circuit change, an induced electromotive
force is produced and hence a induced current is
produced in it this generation of electric current
due to the relative motion between the coil and the
magnetic field.

e et SROT: o1 ot Rt i Tfe A ToRY aTelt
YIHIT I A TT 61T &5 J&edT &, af U URd
SoqEIAIfed S I7Ua g1 & 3R safv 39w we ORa arT
I gt B, T fAega uny Feett ok Judiy & i wmder
T & PHRT I Bt B

This phenomenon is called as electromagnetic
induction.

T AT B g T ORUT S8 ST &

It was discovered by Michael Faraday in 1831.

THD! WIS 1831 H AISHA RS 1 I off|

4. Which of the following effects is not caused by
electricity ? /FRafafaa & ¥ & 1 7vmg fsreft & HROT
TE BT 8?
(a) magnetic effect /96T waTa
(b) thermal effect /ava gvTa
(c) chemical effect/RramafAe Ty
(d) contraction effect /dga TuTd

RRB Group-D 28-09-2018 (Shift-11)
Contraction effect is a thermal effect.

e YT T aTdg w8

5. How much work is done in moving a charge of
5Q across two points having a Potential difference
of 10V?

5Q & 9Tl BT 10V & AWTAT iR aTet af fogsii o I
T fBa=T &1 ST USar &7

(a) 50 A

(b) 50 C
()
(d)ysoV

RRB Group-D 05-10-2018 (Shift-111)
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Gevien: Charge (Q) =5 Q, Voltage (V) =10 V
(Electrical potential difference is also known as
voltage.)

Work = Voltage x Charge

W =10 x5

W =50J

6. A current of 5A is taken by a filament for 10
minutes. Find the amount of electric charge flowing
through the circuit.

T firamie grRT 10 fire @@ 5A $t ant off STt &1 afvay
 yaTfed g9 are fagd smaer i arr J1d Sl

(a) 3000 C

RRB Group-D 05-11-2018 (Shift-111)
Given, t =10 min = 600 sec. | =5A t
YQ=1xt
Charge Q = 5 x 600 = 3000C

7. How much work is done in moving a charge of
4C across two points having potential difference 10
V?
4C AT T 10 V fAyarR arat &1 figeif ma I= &
T S FRAT U 22
(a)10J
(b) 48 J
(c) 40 J
(d) 44 J
RRB Group-D 15-10-2018 (Shift-11)

RRB Group-D 22-10-2018 (Shift-111)
Given,V=10v,Q=4C, W="?
Work(W) = Voltage(V)xcharge(Q) =10 x 4
Work done (W) = 40 J

8. How much work is done in moving a charge of 4
C across two points having a potential difference

of 11V? /4C & Jmay & 11V fAvaiR o & flgeii m &
S B T SRl AT ugar 27

RRB Group-D 22-10-2018 (Shift-1)
GivenVoltage = 11V, Charge = 4 C
According to the formula -
work(W) = Voltage(V)xcharge(Q)
W=V.Q
W=1x4=144])

9. Rate of change of Electric charge (Q)is known
as/fagd 3maer & uRada Hf R (Q) Fearr! &
(a) Electric current (I) /fdgd arT
(b) Potential difference (PD) /&wrfad 3taR (diEY)
(c) Resistivity /ufaredsar
(d) Resistance (R) /afaRrer
RRB Group-D 04-12-2018 (Shift-111)
The S| unit of electric current is ampere (A)

10. A constant current of 1.0A flows through a
resistance of 120. The amount of charge flows
through the resistance in 1 minute is -

120) & ufeRTer ¥ 1.0A &1 fER arT yarfed gt 211 fime
# ufeRiy & vaTed € aTet Sraer 7T g -

(a)1C

RRB Group-D 20-09-2018 (Shift-111)
Current (I) =1.0 A
Time (t) = 1 minute = 60 seconds
Charge = Current /Time
Hence, 1.0 = charge / 60
Charge (Q) = 60 C

NUMERICAL

A current of 0.8 A is drawn by a filament of on
electric bulb for 3 minutes. Amount of electric
charge that flows through the circuitis . ... .. /
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fagd soa & fhedie gRT 3 fA9e a6 0.8 A 4RT UaTfed
Bl 81 afoy @ garfed @9 are g smasr Hram g, . .
1.44

144

14.4

0.144

(a)

(b)

(c)

(d)
RRB Group-D 08-10-2018 (Shift-Il1)

(b) Hence the formula Q = I.t,

t = 3minutes = 3X60 = 180 seconds

| = 0.8A

Where, | = Current, Q = electrical charge, t = time

Q=0.8x180 =144C

How much work is done in moving a charge of 4C
across two points having potential difference 10
V?/ 4C AU HT 10 V fAWa=R a1et af foigaii ot o &
feeT ST AT IS ?

a) 10J
) 48J
) 40J
) 44)

Q N O

RRB Group-D 15-10-2018 (Shift-1i)
RRB Group-D 22-10-2018 (Shift-1Il)
(c) Given,V=10v
Q=4C
W=7 Voltage(V)=work(W)/charge(Q)
W =V xQ =10x4
Work done (W) = 40 J [*S.1. unit of work - Joule

11. A filament of electric bulb carries 0.75A current
in 1 minute. Find the amount of electric charge
flowing through the electrical current. / fag[d gea &7
e fOhetmie 1 fie # 0.75A aRT vaTfad axar &1 fgd arr
& HIEOH O YaTied g arel fag[d Sraer &Y 7 AT
FHIfST|
(a) 240C
(b) 45C
(c) 495 C
(d) 225 C

RRB Group-D 30-10-2018 (Shift-IIl)
Ans. (b) : Electric Current, | = Charge(Q)/Time(t)
| =0.75A

Q=7
t = 60 sec

e Q/
£0.75= 60

Q=60x%0.75
Q=45C

The current of 0.9A is drawn by a filament of an
electric bulb for two minutes. The charge flowing
through the circuit is? / Te fag[d soa & fOhetric gR
I fire @& 0.9A &1 T Wit STt §1 afvay F varfea
B T ST T 82

(a) 1.08
(b) 10.8C
(c) 108 C
(d) 1.8C

RRB Group-D 09-10-2018 (Shift-I1)

Given-Electric current (I) = 0.9 A, t = 2 minutes, =
120 sec. (Q) = ?

Electric current = charge / time

Q=Ixt

= 0.9X2X60

= 0.9X120

=108 coulomb

What is the work done to flow a charge of 5C
between two points having a potential difference
of 15 V? / 15V & AT 3R a1t &f fagait & &9 sC &1
TSt gaTfed aR & feiw o s fesar s 2

(a) 40J

RRB Group-D 23-10-2018 (Shift-11)
Ans. (c) : The work done in flowing the charge of 5

here, Q = 5C,
V=15V,W=?W=QV
W=15x%x5

W =75

How much work is done to moving a charge of 5C
across two points having a potential difference of
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11V/ 11V & H9Tfad SR a1et af fdgail @ 5C & 915t Hr
RN I B/ e & fasar ST 82
(a)5J

RRB Group-D 24-10-2018 (Shift-11)
Given that, Charge (Q) = 5 C Voltage
V=1V
Work = ?
W=VQ
=11X5 =55 J

A filament of electric bulb draws a current of 0.8A
in 5 minutes. Find the amount of electric charge
flowing through the circuit. / fag[d Sos &7 TP
fihemite 5 fme # 0.8A &1 uRT Wigar &1 Ry J yarfed
BN aTe fagga S1maer &t A Jd HifS|

(a) 240C

RRB Group-D 05-10-2018 (Shift-11)
Ans. (a) Given,
Current flowing in the filament = 0.8 A
Time taken (t) = 5 minutes = 300 seconds
Thus, the amount of electric charge (Q) = | x t
= 0.8 x 300 = 240 C

A charge of 2C flows from one point to another
point in a circuit. If the potential difference
between two points is 5 volts, then the amount of
work done will be: / 2C &7 317deT gRUY & U fig I
TR g 7 vaTfed €T &1 Tf & fRigat % e RvaieR 5
alee 8, dt fabu e & &t wre gn:

(a)10J

RRB ALP & Tec. (21-08-18 Shift-1l)

Charge (Q) = 2C, Volt (V)= 5V Work = ?
We know that,

Voltage(V) = Work(W) /Charge(Q)
W=V.Q

= 5X2

=10 Joule

The work done across two points having 10 V
potential difference is 30 J. So the electric charge
flowing between the two points will be/ 10 V
favater arer ar foigaft w fosar mar srf 30 J 81 <41 fagart
& &9 vaTied g1 aTeT fagld 31T g -
(a) 3 ohms
(b) 3 joules
(c) 3 coulomb
(d) 3 amperes

RRB Group-D 10-10-2018 (Shift-11)
Given,
Potential differential, V =10 V
Work done, W = 30 J,
The electric charge flowing between the two
points
Q=W/V =30/10 = 3 coulomb
Hence the electric charge flowing between the two
points will be 3 coulomb.

The work done in two points with a potential
difference of 20V is 60 J. Then the electric charge
flowing between the two points is/ 20V & Jurfad
SR aTat & figait W fovar mar a1 60 J 81 1 figait &
d19 waTfed g aTer fagd smaer 8

(a) 120 C

RRB Group-D 22-10-2018 (Shift-Il)
Ans : (c) Given that,
Voltage (V) =20V
Work (W) = 60 J
Charge (Q) = ?
VvV =W/Q
Q =W/

Q- 60/20

Q=3C

What is the statement of Coulomb's law ?
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(a) The magnitude of the force of attraction (or
repulsion) between two point charges is inversely
proportional to the product of the magnitude of
the two charges as well as the square of the
distance between them. / @ fdg smaei & dfar s
(a1 wfaesoT) I T IRATT ST raeht & aReTor &
UG & HATY-HTY I7S st DY g2 & &l &b SYehHTFaTdT
BT 8l

(b) The magnitude of the force of attraction (or
repulsion) between two point charges is inversely
proportional to the product of the two charges and
is inversely proportional to the square of the
distance between them. / @ fdg smaeit & dfar s
(a1 wfaesur) I T IRATOT & 3maeh & IS &
SRPHATIUTAT BT & 31R 3P S HY g I &
SHATIATAT BT 21

(c) The magnitude of the force of attraction (or
repulsion) between two point charges is directly
proportional to the product of the magnitude of
two charges and inversely proportional to the
square of the distance between them. / g fdg amasit
& T YT (A1 UfAeyur) g 7 gRATor @ raeh &
gRYTT & UHEE & W STTguTfas 3k 39& & & g
& @i & SgehHTaTdY BT &1

(d) The magnitude of the force of attraction (or
repulsion) between two point charges is directly
proportional to the amount of the two charges, as
well as the square of the distance between them. /
g1 fig amaernt & 9 v (7 Uiddson) o o1 aRaTor
ST AL H 7 S AT-AY IS ST H Q@ F Tt &

A arrgaTfae g 1
RRB ALP & Tec. (10-08-18 Shift-1l)

In a circuit diagram, symbol VVV s used as

follows: / Afde M@ H, Udld $T IUTNT 3H TSR fhar
STar @
(a) A wire joint/ U dR &T A8
(b) A battery / U dedt
(c) An electric bulb/ U faSTelt &7 ged
(d) A resistor of resistance R / UfeRTY &7 Uah SR TTH
R
RRB Group-D 28-11-2018 (Shift-I)

+ —
—.—V
The symbol represents. .

(a) unconnected wire crossing/ 3rEg dR HIFRAT
(b) a voltmeter/ U& dlecHIeR
(c) variable resistance or current controller /
gRad=rg ufejry o1 ada= aas
(d) a resistance of resistance R / WfeRTYr &7 U& ufeRie
3R

RRB Group-D 16-10-2018 (Shift-I)

Keeping the voltage constant, if more lamps are
connected one by one in a series circuit, the over
all current in the circuit :/ aledst ®1 R Wad g, afd
3faF oY U SRaeT Tfdhe § Tah-Tdh aRd I8 §U 8,
Hfdhe # o fagga urT:

(a) increases / §¢ ST &

(b) decreases / &1 & SITdl &

(c) remains the same / 3AT & wEAT &

(d) becomes infinite / 3=d & SITaT &

RRB NTPC Stage I°¢ 28.04.2016 (Shift-II)

V| or V=RI
V = constant
I=V/

R

If overall resistance R increases with adding more
lamps in the circuit then overall current decreases
because voltage across the circuit is constant.
Law of resistance in series —

¢ Current through each resistance is same

¢ Total voltage across the combination = Sum of
the voltage drops

* Voltage drop across any resistor is proportional
to its resistance.

¢ Equivalent resistance = Sum of total individual
resistance.

¢ Equivalent resistance is larger than the largest
individual resistance.

Tfe gfdhe 7 a1fde &u Sex R gwy ufokiey 3R sedr & o
FeT URT HH &1 AT ¢ Fifd afhe ¥ aieest @R gar &1
SRactT § gfakre &7 e -

o U Ufekly & ATerm I oRT TAH 2

o TS § FeT Aedst = dledel ST ST TN

o Tt oft ufekiye W aledst 31T 38d ufckiy &

FHTIUT g 81
e g Qﬁﬁﬂ':gm’m%ﬁl ﬂmUWW|
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o JAeT YRy oY 92 afehTTd Uik & 93T €T 8

Ratio of voltage and direct current in a closed
electric circuit: / T ¢ faggd afuy # gt ok uera
YRT BT JUT:
(a) remains constant. /| TR Tgar &
(b) varies/ Sgetdt
(c) increases. / & ST 8.
(d) decreases./ e ST 2.

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)
In a closed electrical circuit, the ratio of voltage
and direct current is constant.
For closed circuit, R is constant.
i. An electric circuit through which no current flows
is called an open circuit.
ii. An electric circuit through which current flows
continuously is called a closed circuit.

When many resistance in a circuit are connected in
series, the value of current in each resistance is:/
J9 T Afdhe § &8 UfeRIY sikae & 93 81 €, @ uld
ufeRYy & 4RT &1 A g
(a) increases / SeaT &
(b) decreases / Tredt &
(c) halves / 3T
(d) remains the same / 3AT &I FEAT®

RRB ALP & Tec. (09-08-18 Shift-I)
Ans : (d) Series combination of resistance : If a
number of resistance are joined end to end so that
the same current flows through each of them in
succession, then the resistance are said to be
connected in series.

What do the given symbol in figure represents in a
reference of electric circuit? / foa & faar mar uedte
fagga uftayr & e # @ qerfar 872

_@_

resistance / wfaRIer

plug key / I ol
electric bulb / foSteft &1 g7
battery / §e&

a

RRB ALP & Tec. (14-08-18 Shift-I)

. Anelectriccell T4 =

. A battery or a combination of cells —+| ———

|38}

3. Connecting wire

4. A wire joint

5. Wires crossing without joining —}—
6. Electric bulb (5)

7. Plug key —e ——
8. Tapping key _/._
9. Open plugkey ——( }——
10. Closed plug key ———(@)——

11. Fixed resistance —WWW—

12. Variable resistance —"ydh—

13. Rheostat —MMW—
14. Galvanometer —0O0—
15. Ammeter _+®__
16. Voltmeter _+®—_

Why the batteries are used in electrical circuits? /
faega uRoy & defat &1 3T a0t far smar @2
(a) to generate current/ ¥ I@¥ A & faw
(b) to produce electrons/ SAagiHl &7 IcdTE A S
fore
(c) to generate potential difference/ FuTfdd ek
Iue IR & faw
(d) to measurement of potential difference / Fwrfda
3R & AT & faw

RRB Group-D 31-10-2018 (Shift-Ill)

63. Which of the following causes of power loss in
AC circuit generally: / 3maR W AC dfde & fatelt &t
g1 &7 FRufafad § @S9 a1 FRoT ar &
(a) resistance and inductor / UfeRTer 3R g5aer
FHIAGTAT
(b) capacitor only/ dae Furfer
(c) inductor only/ 9 TT g5
(d) resistance only / &aa UfeRTy

RRB J.E. (14.12.2014)
The power loss in A.C. circuit is generally

SHIPRA CHAUHAN
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due to resistance of conductor only.

Power loss in resistance = I°R.

The higher the value of resistance, the higher the
power loss, which is the loss of energy in the form
of heat.

Heat = I°Rt
The flow of. .......... in a given circuit is
anticlockwise./ TR T vaTE A.......... CIEICORS
>
+
IA
—+ s -
-

(a) current / grT
(b) voltage / dleeS
(c) resistance / ufeRTer
(d) electrons / soiaei=
RRB Group-D 17-09-2018 (Shift-III)

In a circuit, there is only one path to carry electric
current to flow is ?/ faeft uRuy & fagd arT &1 varfea
IR BT o U & 7mf 72
(a) parallel / FHHEIR
(b) conductor/ Hgaex
(c) series circuit / $jaar afde
(d) Completed / ¥qfka
RRB Group-D 27-11-2018 (Shift-1)
RRB Group-D 27-11-2018 (Shift-Il1)

In an electrical circuit diagram the symbol of a cell
consists of a long and a short vertical line. Its a
long vertical line represent. . . . . terminal. / fagd
qRTe 31Rd # A F Ui # U wddll 3R T wier
FETeR AT €Il &1 T8 U ofvall WSt 3T T aerielt 8|
(a) left

(b)

(c) negative
(d)

positive

right
RRB Group-D 16-11-2018 (Shift-II)

The current flowing through a resistor is inversely

proportional to its ......... / & ufedias & varfed g9

(a) Potential Difference / fdwaiaR
(b) Resistance/ ufarrer
(c) Electric charge / faga smam
(d) Heat / 3T
RRB Group-D 11-10-2018 (Shift-1l)

When an electric current of 4A flows from a source
though an electric heater, its potential differential
is 60V. If the potential difference increases to 165V,
what will be the current? / Sis e fag[d €ie? & wrenw
A el T A 4A K Rggd arT yarled @ &, & s
TuTfad 3feR 60V BraT 81 fe favaT=R sgar 165V & S
AT YRT T gNAT?
(a) 24A
(b) 10A
(c) 12A
(d) 11A

RRB Group-D 01-10-2018 (Shift-11)

Let the electric current of an electric heater (l;) =
4A

Its potential difference (V;) = 60 volts

After increasing the potential difference (V;) = 165
volts

Electric current (1) = ?V =1R

V/V,=1/1,

60/165=4/1,

l,=11A

11. When two conductors carrying current in the
same direction -

9 & IS U & f3m & Rt varfad o € -

(a) The conductor will attract each other /&gdx
UH G & ST Har

(b) Conductors will resonate each other /HgacR T
TR B ufdeEa sar

SHIPRA CHAUHAN
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(c) Conductors will repel each other /&saer Tdh T
&1 dTe ge1 4t

(d) Voltage will increase across conductor /&gaeR
# dieRs §g SITQTT

The two wires or conductor carrying current in the
same direction attract each other and they repel if
the current are opposite indirection.
T &1 faorm # e uarfdd aRa aiet & dR AT Hsaer Uh-
TR P AT Fa & 3R Y Fée RAudia feam & gar &
@ & ufdefa 8 &

12. The value of electromotive force (€) is equal to-
[ERERTHRT S (€) BT HIH &I BT 2-
(a) € = Q/t
(b) € =W/Q
(c) e=E/Q
(d) € =P/Q

RRB Group-D 11-12-2018 (Shift-11)
Potential difference or electromotive force (E)
between two points in an electric field is the
amount of work done in bringing a unit positive
charge from one point to another.
g &1 & &Y Rigait & i T sier 71 g
T () TP 3HTe APRIHS ITol Bl T g T g fog &
o # 0 7T B Y AT 2

Potential difference or electromotive force = W/ Q

13. If a capacitor stores 1 coulomb at 10 volts, its
capacitance will be (F = Farad):
Tfe T TUTRA 1 FeATH BT 10 dlee W TUET AT &, aF
3P eariar gt

(a) 1F

(b) 10 F

(c)oaF

(d) 0.01F

RRB JE 2014 (14.12.2014 Red Paper)

A capacitor stores 1 coulomb at 10 volts.
Then capacitance (C) =Q/V

=1/10 = 0.1F

14. Which of the following scientists has given a
law governing the force of attraction / repulsion
between two charged particles? /Rafafed & & fea

A 3 &Y IMAfAT TN & i MHYUI/ufAHyoT Ft Y
fifaa &= arar fog faar 82
(a) Charles Dufay /aTd &%
(b) Michael Faraday /ATedet IRTS
(c) Archimedes /3T AET
(d) Charles Coulomb/aTeT Getea

RRB ALP & Tec. (10-08-18 Shift-11)
According to Coulomb's law, the force of attraction
or repulsion between two point charges is directly
proportional to the product of the magnitude (q1q2
) of the two charges and inversely proportional to
the square of the distance (r2) between them,
Mathematically.
T & o0 & IgER, MO $U ¥, < g smaet &
19 3rrHyr T Ufdeyur T g H1Y & smaeit & gfwmor
(quq,) & IeTE & JATUTAT T & 3R 379 i & g
(r?) & ot & SgehuTgaTd! €T &1
F =k 1192/ 2

The value of K depends on the nature of the
medium between the two charges.

For charges in vacuum, K = 9 x 109 Nm2/C2.

15. Electric field strength of charge - /fag[d & Jrrasr
&Y erfeb -

(a) Increases with distance /g3t & T ggaT &

(b) Decreases with cube of distance /gt & 99 &
a1y gedt @

(c) Decreases with distance /gt & T1¥ T ST &

(d) Decreases with square of distance/glt & af &
Y ge AT @

RRB J.E. (14.12.2014, Green paper)

. 4192
F=K-2
r
According to Coulomb's law -
(1) The force between two charges q; and qy is

directly proportional to the product of the
magnitude of both charges.

(Il) The distance between charges is inversely
proportional to the square of distance (r2) between
them.

(Il1) depends on the medium between charges.
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Mathematically,
F = 192/ 2

The value of K depends on the nature of the
medium between the two charges. Hence electric
field strength of charge decreases with square of
distance.

For charges in vacuum, K = 9 x 109 Nm2/C2.

16. Among various electrical safety devices, one
based on the heating effect of electric current is
called a ?

faffrr fagga gram Iua=o 7 9, fagd arT & ardi v
TR 3TYTRA IUDIUT Y T HET ST 2?
(a) Fuse /ogst
(b) Protective relay/qRamers ot
(c) Circuit breaker /afde sax
(d) Surge protector/gfg &

RRB NTPC 05.01.2021 (Shift-1) Stage Ist
Fuse is an electrical safety device, which provides
protection to an electric circuit from excessive
current.
TRIST U T TRET SUUT 8, 51t faggd ufvay &t srafds
GRT ¥ RETT Y& T 2

17. Electrical fuse is based on which of the
following? /fagd e fFwfafad & O foa w smatia
87

(a) Magnetic effect of current /4RT &T eI U9TT
(b) Cooling effect of current /9RT &T M gUTT

(c) Heating effect of current /9RT &T dTdig g9Td

(d) Electromagnetic induction /fdgd v oo

RRB Group-D 24-09-2018 (Shift-111)

The electrical fuse is based on the heating effect of
the current that is called Joule's law of heating.
g TgeT 9T & ATy gara W SmeTiRa g # Oy St
ST a9 fa S8t SITaT #

18. The lamps fitted to illuminate the roads /
streets: /Ggal/Tfeal BT A TR & fAT T T AT
(a) In series /$@aT &

(b) In parallel /FaMTaR &

(c) Labyrinth in parallel

(d) Head to head

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)
The lumps fitted to illuminate the roads/streets
lights are connected in parallel because in parallel
connection voltage is same across all lamps but
current is different. If any fault occurs in any lamps
then other lamp is safe in parallel connection.
TSH1/Te ATEel B M HA & AT e U g
TAFIR H 93 gV & FUifd TR daaee § 3ft auf w
Freest TEH & Al Pie I 81 afe et g F A
RIS ST & A TR PR & GIRT AT R B

19. Where are electrical switches are connected?
/faega Raw Fef I3 g 82
(a) Live wire /aTTgd dR
(b) Ground wire /U138 91T}
(c) Neutral wire/dexI drR
(d) All of these/Tr Taft

RRB J.E. (14.12.2014, Yellow paper)
Electrical switches are fitted to the live wire. The
fuse is also fitted to the live wire.
et & Raw @ga ar & amme S § | e & faga
varfad arR & oft e S @)

20. According to the international colour code for
electrical wire, which of the following options
represents neutral wire.
faga IR & fav IRTET 71 F1s & R, Fafafea &
A T T fAdeT dexy arR &1 ufafife a=ar &1
(a) Red /oTTet
(b) Green /&T
(c) Blue /=¥
(d) Yellow/drar

RRB NTPC Stage Ist 22.04.2016 (Shift-111)
Colour of Wire Use
Red/Yellow Phase wire

Blue/Black Neutral wire
Green Ground wire

21. How many types of connections in electric
circuit are-

faege uftayr & e fFa UeR & 8 #-

(a) two

(b) three
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(c) four
(d) one
RRB Group-D 12-11-2018 (Shift-11)

22. Ratio of voltage and direct current in a closed
electric circuit:
T §g faggd afvay # dieest Sk Ueie URT &7 SgaTd:
(a) remains constant. /R EATE.
(b) varies. /fo= gYaT 81
(c) increases. /9T &1
(d) decreases./ac STt &1

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)
In circuit theory, the resistance is assumed to be
independent of temperature. Thus in a closed
circuit, the ratio of voltage and current remains
constant.

23. When many resistance in a circuit are connected
in series, the value of current in each resistance is:
/59 TS Afdhe § &€ ufRIy skaem & 92 819 €, @ uld
ufeRYy # 4RT &1 A g
(a) Increases /dgar &
(b) Decreases /e STdt &
(c) Halves /ater
(d) Remains the same/dg! T&aT &

RRB ALP & Tec. (09-08-18 Shift-1)
Series combination of resistance : If a number of
resistance are joined end to end so that the same
current flows through each of them in succession,
then the resistance are said to be connected in
series.
TfeRTyT &7 sRaaT Juie: afe o ufeRrdl & e R A
TR TR T ST 7T & a1fh 378 A S & wremy
AT URT vaTfed &, d UfoRre & siaeT § ST g1 HaT
STaT 8

24. A closed and continuous path of electric current
circuit is called? /fagfa arT aRay &7 §i¢ vd Add gy
FEATAT 87
(a) path /amf
(b) electric circuit /fagld Afde
(c) mesh/STTeT
(d) loop/e@
RRB JE 27.05.2019 (Shift-1V)

Electric circuit-The closed and continuous path of
an electric current is called an electric circuit.

fagd uRuy- fagd a~T & &< wd Tad g &1 fgga afay
FEd 2l

25. Those wires which transmit electricity in houses
having a coating of ...... /@ AR S =RT # faggd F=mid
(a) Polyvinyl chloride /aTilfaqTee FRARTES
(b) Polythene /giferefi
(c)P fluoride /dTelSUTE A TARTSS
(d) Polystyrene chloride /affaeeeRT F@RTES

RRB Group-D 28-11-2018 (Shift-1)
Those wires which transmit electricity in houses
having a coating of polyvinyl chloride.
Polyvinyl chloride is a non-crystalline thermosets
and hard material which does not affected by
heating and chemical reaction.
q AR S UTAI IS FARTES BT DT aTed w1 H fstedt
TR R B
TTeATTS e TRISS U TR-faediiy aide ik R
el 2 S §fe iR warafae ufafsar & wfaa Tt
Gaikd

26. Which of the following causes of power loss in
AC circuit generally:

AR W AC Afde # et & a1 o1 Ffafea 7 3
I AT ROT T 2

(a) Resistance and inductor /ufeRter 3R TRW SRAgTeT
(b) Capacitor only /&ae JeaTRa
()
(d)

Inductor only /Hae URY FHRATTAT
Resistance only/&de UferTy

RRB J.E. (14.12.2014, Yellow paper)
The power loss in A.C. circuit is generally due to
resistance of conductor only. /7.3, ¥fde # fosrelt 6t
11 3 7R | et SR F Ufaky S HRT EIA B

Power loss in resistance = I°R.

27. If two charged objects of equal capacity are
connected with a wire:

Tfe TAT edT 6 2 IMAfAT TGV U aR F T &
(a) Current flows from negative to positive/&mRT

UM ¥ g 6 3R vared gt &
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(b) Current flows from positive to negative/4RT

TS A FRUTHS &Y 3R yaTfed gl 8

(c) Current will not flow /@vc Uarfed &l g

(d) Flow of magnetic induction /ST 9RuT &7 UdTg
RRB Group-D 28-09-2018 (Shift-1)

When two charged objects of equal capacity are

connected with a wire, there is no flow of current

due to zero potential difference.

STe FHT &THT ST T ST gy U aR & JeT eielt &,

AT T FAVAT=R & HRUT URT T UdTe e €1 &1

28. Some resistors are connected in series in the
circuit, the value of current through the circuit is ?
[afe & T8 ufadius skaar § 2 g €, Ifdhe & uram 4
&RT BT A 82
(a) Remains the same /d&I AT &
(b) Increases /agar &
(c) Decreases/®re AT &
(d) Halves /3mrar

RRB Group-D 26-09-2018 (Shift-111)

29. The current flowing through a resistor is
Inversely proportional to its .......... /& uffias &
(a) Potential Difference /a¥rfad iR
(b) Resistance /ufaRrer
(c) Electric charge /fag[a ammasr
(d) Heat/®m

RRB Group-D 11-10-2018 (Shift-11)

By Ohm's law,
VI

where, R = Proportionality constant called
resistance

30. AC and DC are the form of ? /AC 3R DC s
¥ 8?7
(a) Charge flow /Tt waTg
(b) Voltage flow /aleest Uate
(c) Water flow /STeT UdTg
(d) Air flow/arg uarg

RRB NTPC Stage Ist 30.04.2016 (Shift-11I)
Both AC and DC describe types of current flow
(charge flow) in a circuit. In direct current (DC), the

electric charge (current) only flows in one
direction.

Electric charge in alternating current (AC), changes
direction periodically.

Y 3R S S U afe § gdH e uaTE (TS vaTE) &
USR FT quH IR &1 Tget arT (DC) § faga amaer (%)
Fact Ue faem & vared gdr 2|

TTad! Ry () # fagd smaer awy-aag w faem
FEAT IEAT B

31. The law which relates the resistance of
conductor to current flow is called ? /ag fFaw it
TS & UFRIY HT URT YdTE F HSfAT IR 8, SEeAram
27

(a) Kepler's rule /&wR &1 fAgw

(b) Lambert's law /oiaé T ffam

(c) Joule's law /ST &1 Fgm

(d) Lenz's law/e= & gm

RRB NTPC Stage Ist 26.04.2016 (Shift-1)

The law which related to the resistance of
conductor to current flow is called Joule's law.
URT UGTE & Ufd I1a® & iRy & defed faw & o
1 g FgT o B

32. Calculate the electric current when a generator
of 220 V output connected with a motor of 1100 W
power ?
II§ 220 V 3T3TYE & UH S-keX 1100 W Tfb & Tiex &
3T &1 A fag[a gRy & T Y2
(a) 10A
(b) 50A
(c) 5A
(d) 100A
RRB Group-D 20-09-2018 (Shift-11)

Current (I ) = Power / Voltage

= 1100 / 220

I=5A

33. What would be the electric current in
electricbulb from the source of 220 V. If the
resistance of bulb filament is 1200 Q?

220 V & Gid & fagfd sow & faggd gy o gnft) afd o
foperrie &1 ufaRYer 1200 () 872

(a) 18 A
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(b) 0.18 A
(c)1.8A
(d) 0.018 A
RRB Group-D 08-10-2018 ( Shift-111)
V=IR=>I=V/R
I=220 /1200 = 0.18 A

34. Which of the following law is related to the
heating effect of electric current? /Aafafed & &
I a1 Ao g arT & ardiy gure ¥ Tafdg 272
(a) Ohm's law /30 &7 fAgw
(b) Faraday's law /918 &7 famm
(c) Newton's law /== &1 am
(d) Joule's law/S[eT & fod
RRB Group-D 11-10-2018 ( Shift-1)

35. The formula for electric currentis | = ... /
time (t)./fRg@ aRT ST GF | = ......../T07 (t) Bl
(a) Charge /3tmaer
(b) Power /2136
(c) Resistance/ufaRrer
(d) Volt/aree
RRB JE 25.05.2019 (Shift-11l)

36. "The workdone in moving a unit charge across
two points of an electrical circuit” is called ..........
/Tt fagga uRgy & & figs @ e b1s Smaer 1
AR &3 § o mr e FEATT &

(a) Potential difference /favarR

(b) Current /3masr

(c) Power/21fth

(d) Resistance /ufeRTer

RRB NTPC Stage Ist 19.01.2017 (Shift-11)

37. If the value of V/I is a constant, then what is it
called? /afe V/| &1 0T Us R €, AT 5 T el
7T 872
(a) Potential difference /favarw
(b) Electric current /fagd smasr
(c) Coulomb /HeiTes
(d) Resistance/ufeRrer
RRB ALP & Tec. (21-08-18 Shift-1ll)

38. If the current and resistance are 10 A and
soQrespectively. Find the potential difference. /afd
4RT 3R UfaRre s 10 A 31k 500) &1 TWIfAd 3R AT
.
(a) 50Q
(b) 50 V
(c)sV
(d) 500 V

RRB Group-D 23-10-2018 (Shift-1)
I=10A,R=50Q,V="7?
From, V = I.LR, =>10 x 50 = 500V

39. Which of the following is not an insulator?
[Fafafad & 3 S a1 v sgeiex 781 87
(a) Paper /&TTer
(b) Nichrome /A8
(c) Diamond /&RT
(d) Ebonite /TaHTSE

RRB Group-D 16-11-2018 (Shift-111)
Those substances which do not allow the current
to flow through them, are called insulators. For
example- dry wood, bakelite asbestos, ceramic,
diamond, paper etc
3 gerd St S wrerm A fagd aRT $Y varfad TE 89 3,
FATAD PEATT & | ISTERUTY- T Fhal, §heTse
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N T

Conductors Silver
Copper
Aluminium
Tungsten
Nickel
Iron
Chromium
Mercury
Manganese

Alloys Constantan
(alloy of Cu and Ni)
Manganin
(alloy of Cu, Mn and Ni)
Nichrome

(alloy of Ni, Cr, Mn and Fe)

Insulators Glass
Hard rubber
Ebonite
Diamond
Paper (dry)

40. Which of the following is a conductor of
electricity? /Rufafad # @ o g &1 gaes 872
(a) Copper /dfar
(b) Sulfur /e
(c) Phosphorus /®BRGRA
(d) Nitrogen/Tggra=
RRB JE 02.06.2019 (Shift-1V)

41.Which of the following metals is a better
conductor of electricity ? /Rafafaa & ¥ o= @ a1g
T & g TP 87?
(a) Silver /=ridY
(b) Tungsten /deT
(c) Aluminium /Tegfafam
(d) Copper/drsar
RRB Group-D 02-11-2018 (Shift-111)

42. Which of the following solutions is not a
conductor of electricity? /Aufafad & & o ar
e fagd o1 gareis TEf 87

(a) Sodium hydroxide solution /@f3TT gEglaaTEs
L)

(b) Glucose solution /7@t faea=

(c) Acetic acid solution /Tfafes TRiE faeaT

(d) Hydrochloric acid solution/gTggiawa Tfs
e

RRB ALP & Tec. (29-08-18 Shift-1)

43. Ohm's law describes the relation between. . . .

and......... JAcrs AR et i N1 SR CIEREL)

T qui a=aT &

(a) Electric current, electric charge /fagd arT, faga

EIEH

(b) Electric charge, time /fag[d 3maer, ¥#g

(c) Potential, electric current /fawa, fdgd vare

(d) Potential, electric charge / fava, faga smaer
RRB Group-D 03-10-2018 (Shift-111)

Ohm's law describes the relation between potential

difference or voltage and current flowing through a

metallic wire or conductor.

3N &7 oy Tfad SR a1 dieest 3k a1 & ar a1

sy P HIETH A g dlel! URT & did e BT qui

AT B

44. Wheatstone bridge is used for measurement of-
[T Tt T ITanT fvads Ao & faw fsar Sirar 2-
(a) Lower and higher value of current /&RT &7 &H
3R rfds geg
(b) Higher values of current /4RT &T 3=T AT
(c) Lower the value of voltage /dTeesl ST HIF HH X
(d) Resistance values/ufeRTer AT

RRB J.E. (14.12.2014, Green paper)

45. The resistivity of an electric conductor depends
on: - /fat faga T1ee & ufadigaar Rk awd) 2:-
(a) Area of cross section /&HIT AR & &7
(b) ALl given options /&t faw v fawea
(c) Length /eaT
(d) Material/geref

RRB Group-D 04-10-2018 (Shift-1)
Resistivity of a conductor depends on nature of
material. It is denoted by 'p" and measured in
Ohmmeter.
et aTere Y gfekraedT gard &t uefa w ik Fdt 81
T 'p' & gfar Srar # &k ey e & wrar Srar 1

46. Often the use of current controller in electric
circuits is to control......... furg: fagd ufay & arr
iz &1 3T Rafa == & fay ey Smar 2.

(a) Temperature /dTqHT
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(b) Resistance /ufaRrer
(c) Electric current /f3g[d warg
(d) Potential difference /favarR
RRB Group-D 11-10-2018 (Shift-1)

47. Which of the following has low resistivity?
[Fafared & & fFad uftdiudd $9 872
(a) Nichrome/aTs®a
(b) Glass /tama
(c) Ebonite/usTge
(d) Diamond/gRT

RRB ALP & Tec. (20-08-18 Shift-111)
Nichrome is a heating elements. It has low
resistivity about 112.2 x 10-6 Ohm-cm
ATSHIH Teb A0 T &1 SHD TTRTEBAT G 112.2 x
10-6 -3

48. The resistance of a conductor is directly
proportional to: /f&T e &1 ufekiy M sgarfas
BT 8
(a) Area of cross section /&iT AR & &7
(b) Electric current /fag[d warg
(c) Coulomb /GHetrs
(d) Length /ciaTg
RRB Group-D 28-09-2018 (Shift-1)
RRB Group-D 28-09-2018 (Shift-111)

R=2

A
g ¢
— ,

49. An element offers high resistance for

conduction is called :
g dcd S ITeid & TaU 3T UfeRIeT U T &, Heeral
E
(a) Conduction /daTeid
(b) Insulator /g~geex
(c) Resistor /3TaRTerd
(d) Semi-conductor/3reaTa®
RRB ALP & Tec. (21-08-18 Shift-1)

50. If the resistance of a conductor is reduced to
half, its thermal effect will be... /afe f&ft ITas @1
TfeRYer e IR fagT ST aY 39T ardig Wy ..

(a) One fourth /U Ttats
(b) Half /3mer
(c) Double /ERTAT
(d) Four times/ IR T[T
RRB ALP & Tec. (21-08-18 Shift-1)

1. If two resistors have the same potential, they
are: /afe 31 ufeRres! Ff gHar IHHE &, A7 3 &
(a) Are highly electromagnetic /3Tfae faga
TJEHT §
(b) Are connected in parallel /THTHIR ¥ J3 §T &
(c) Are highly reactive /3rafae gfafearefia &
(d) Are connected in series /%@ # JS g &

RRB Group-D 10-12-2018 (Shift-1ll)
If two resistor have same potential they are
connected in parallel.
In this case total resistance of the circuit can be
determined by-
Tfe & WfeRTad! $F a1 T & a7 § TR § F3 g
gl
o9 wHe H Aihe o1 ol Rty Raffe faam S wewar 8-

B RlxR:
M R, +R,

Ohm

2. If 2 ampere current flow through a conductor
having potential difference 4. Then resistance of
conductor will be :
Tfe fAYaT=R 4 aTat &t ITas F 2 vafR 9T vaTfea &
AT Tt BT Uiy T
(a) 1 ohm
(b) 8 ohm
(c) 2 ohm
(d) 0.5 ohm
RRB Group-D 01-10-2018 (Shift-1)
Resistance (R) = %
Given that, V=4V, 1=2 ampere

4
then, =

el

Il

ro |
-~

(5=

3. An electric lamp, whose resistance is 40 ohm,
and an 8 ohm conductor were added in series with
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a 12V battery. What is the total resistance of the
circuit?

T fagd o, forweT ufadiy 40 3 8, stk uws 8 a9
FEaX B 12V I & AT 7T H SISt 7T o7| Fihe FT

FeT UfaRre fasdam &2
(a) 46 Q
(b) 50 Q
(c) 48 Q
(d) 40 Q
RRB Group-D 15-10-2018 (Shift-III)
i 40Q 8Q
>\ AN
— =
12V

In series connection,

Total resistance of the circuit
R,=R;+R;
Ry=40+8=48Q

4. What will be the resultant resistance of a circuit
that has three resistors of each 25 Q in series?/39
ufvuy &1 aRurmdt ufadre Fur g fSad giaer § U 25
O & & wfargs €2
(a) 100Q
(b) 75Q
(c) 105Q
(d) 25Q

RRB Group-D 31-10-2018 (Shift-Ill)

R, =R, =R, =250

Let the equivalent resistance be R. And

combination
Ry =R} +R; +R;
=25+25+25
R, =75Q

5. If the potential difference and current through a
circuit are doubled, the resistance of the circuit is:

gfe fadt afdhe & Tragm & Twifaa iR 3k urT SN &
STt 8, A wfhe @1 ufakiy &

(a) Increases /dgar &

(b) Becomes zero /[ & ST &

(c) Remains the same/dg! &dT &

(d) Decreases/®r@ STt &

RRB Group-D 09-10-2018 (Shift-I)
If the voltage and current through a circuit are
doubled, the resistance (R) of the circuit remains
the same because the ratio of voltage (V) and
current (i) is equal to a constant called the
resistance of the circuit. It is given by
Tfe it afde & arend & dieest 31k e BT AT IR
e Sirar &, o 9fdhe &1 ufeRry (R) a8t gaT & auifs
dreest (V) 3R &ee (i) &T 31T U TERT$ & SRIaR &ham
2 O ofe &1 ufeRly seT STaT &1 g gr femm o & | R
=V/I

6. Which of the following substances has the
highest resistivity ? /Rafafad & & fa gard &t
yfeRYudaT ged 3rfdd 272
(a) Ebonite /vaTSE
(b) copper /ataT
(c) Nichrome /T8
(d) Glass/temrd
RRB Group-D 09-10-2018 (Shift-)

Material Resistivity (Q-m)

Ebonite 10*-10"

Silver 1.59x10°®

Copper 1.68x107°

Nichrome 1.10x10°°

7. Which of the following components does not
affect the resistance of a conductor? /Rufaf@a &
B T e Tl I & ufadre o garfad T8 axar 82
(a) Length /waT
(b) Pressure /eama
(c) Area of cross section /&I AaRT &T &7
(d) Matter /uerdf

RRB Group-D 22-09-2018 (Shift-Ili)
We know that resistance of a conductor

pl

A

8. The inverse of resistivity is called. /gfaRIeradT &1
eh HEATAT &

(a) Electromagnetism /9faRTISAT &7 hH HEATT Bl
(b) Conductivity /<Teedr
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(c) Counter transaction / HT3eR TlolaRTT
(d) None of Above /3WRh & & HIS &
RRB Group-D 05-12-2018 (Shift-I)

® The inverse of the specific resistivity of a
conductor is called the specific conductivity or
electrical conductivity of the conductor.

o &It 9T Fi fafere ufeRiasar & ofopy &1 I1d
&t fafre aressdr a1 faed arctedr w1 ST 1

9. The resistance of the wire is inversely
proportional to ......... /AR ST UfAAY ... B
SHATIATAT BT 21
(a) Temperature /dTqHT
(b) Resistivity /gfeRtgesdr
(c) Length /eaT
(d) Cross section area/sid JaR &7
RRB Group-D 06-12-2018 (Shift-1l)
RRB ALP & Tec. (09-08-18 Shift-1l)
RRB Group-D 04-10-2018 (Shift-1l)
RRB JE 31.05.2019 (Shift-1ll)
® The resistance of the wire is inversely
proportional to the area of the cross section.
® The electrical resistance of an object depends
on its physical geometry (length, area, etc.)
and the material the object is made of.
® R BT UMRIY IIRY HIC b SAB & GhHTIUTAT
BT 8l
o 5 axg &7 gy ufady Iud Wifds swfafa
(e, &aeT, 3MTfe) 3R 3T Tl R ek aar &
o o T 21

10. If resistance increases then electric
current

(a) will decrease to zero /T & SITQT

(b) will decrease /&W & SITQTT

(c) will be fixed /St& &= feaT ST

(d) will be doubled /1T &1 SITQT

RRB Group-D 01-11-2018 (Shift-1i)

® |f the resistance increases, the electric current
will decrease because the potential difference
between the ends of a resistor and the ratio of
the current flowing through it is a constant

and is called its electric resistance. It is
measured in ohms.

o  Ifg ufekley sear 2, t faegd amT &0 & Srwft Fifs
et ufRrys & fART ok 38 varfea arT & srguTa
F T duTfad ek U fERIS 8T & 3k 38 gaT
T ufoRYey a1 SiTaT 81 38 3 H 7T ST 2.

e R=V/I

11. If the resistance is reduced to half, the current. .
... /9 iRy STUT T SY, AT O L L L L ?
a) doubles /ENTAT €1 SITAT &
b) there is no change /SNT & STTaT &
c) halves /3mmar
)

(
(
(
(

d) becomes three times/d\ 7T &1 STaT &
RRB Group-D 08-10-2018 (Shift-II)
V = IR
V
ll :E ....... (1)
\% ..
I, = ¥V B (11)
From equation (1) and (i1),
V
L_R _V R 1
I, V R 2v 2
- R/2
I, =2I,

12. Which of the following substances has very
high resistance? /fafaRad & & & garyf &1 uferty
g 31fd 272

(a) Conductor /&g

(b) Semi-conductor /3refTe®

(c) Insulators /ggaieR

(d) Superconductors/qmRasacd

RRB JE 31.05.2019 (Shift-1V)
The electrical insulators in the above has very high
resistance.

W # fAgd Tgaer &1 ufekiy 9gd 31 81

13. When two or more resistors are connected
sequentially to each other, they are attached. . .

/SIS & AT &1 SIS UfeRTasd Us gk I H1Hd 9 H 8
B g, I g S
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a) In line/dfs &

b) In parallel /FATHIaR &

c) In series order/$ae HH H
d) Directly/dtg

—_— o~~~

)
)
RRB JE 23.05.2019 (Shift-1)

® When two or more resistors are connected
sequentially to each other, they are connected
in series order.

o SN AT AP UfeRIUS Ve qEk ¥ B 4 H

FREAE, A I 3T v F 2 B &

14. An electric bulb is connected to a 220 V
generator. The current generated through it is
0.50A. How much power is the bulb?
TS fIEd 9w 220 V IR A JoT 1 58 HTeH I I
RT 0.50A B | §og T 1feh o7 872
(a) 110 Pa
(b) 110 N
(c) 110 W
(d)110J
RRB Group-D 28-09-2018 (Shift-1Il)
® Electric potential difference (V) = 220 V
®  Electric current in the light bulb (I) = 0.50A
®  Electric bulb power (P) = ?
o P=V
= 220 x0.50
=110 J/S or 110 W

15. If a current of 1.5 amperes remains in a
resistance of 10Q, then what will be the amount of
energy expelled in 1 minute?
Tfe 10Q)  ufRg # 1.5 TR St yrT @ ar 1 e &
FrH1fad a1t & AT FuT gnit?
(a) 15 watts
(b) 22.5 watts
(c) 135 W
(d) 1350 W
RRB ALP & Tec. (20-08-18 Shift-Il)
| = 1.5 Ampere
R =10Q
t = Iminute = 60 seconds
H=1"Rt
= 1.5x1.5x10x60 = 1350 watts

16. Electric energy used in homes, industries, etc. is

usually expressed as .............. [eRY, e enfe |
AT FT I qTe! FAGd St BT STHAR T e >
¥ § o< fosur ST 21

(a) in kilowatt hour
(b) in kilowatt minute
(c) in kilowatt
(d) in kilowatt seconds
RRB Group-D 13-12-2018 (Shift-Il)
® Electric energy used in homes, industries and
commercial establishments etc. is usually
expressed in kilowatt hours, it is a unit of
energy. This is often seen in electricity bills.
e =R, ITT qUT UTUTRS UfdssHT 31fe # ugeh fagd
Tl & g feldte e W ook fhaT ST €, 98
FoIt Y U THIE §1 VAT IR fAorelt et & Raw &t

Tarerar 21

17. The energy used in industries and commercial
establishments is usually represented in the form
of..... ?

It 3R aTforfe ufassHT # SUAHT & I aTelt Sotf
FY STHAR W & T qurfar S 2

(a) Kilowatt-hour

(b) Watt
(0)

(d)

Joule
Power
RRB Group-D 23-10-2018 (Shift-IIl)

18. An electric lamp of 120 W is used 8 hours per
day. Calculate the units of energy used by the lamp
in one day.
120 W &7 U& fag[d o ufafas 8w 3oz fsar St 81
T T O U grT Ui it € FaAt Y spredt Y TurET
Call
(a) 0.96 units
(b) 2.00 units
(c) 1.50 units
(d) 16.00 units
RRB Group-D 18-09-2018 (Shift-1)

Consumed energy = (Wattxhours x dayx no. of
equipment)/1000
E = (120x 8 x1)/ 1000

960/1000
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0.96units

19. What is the rate of electrical work or the rate of

expenditure of electric energy? /fagd &1d &t & ar

faga Fof $ am Hr 7T 87

(a) Work /ome

(b) Stream /¥RT

(c) potential/&war

(d) power/2rfth

RRB JE 23.05.2019 (Shift-1V)

® The rate of electrical work or the rate of
electric energy expenditure is called electric
power. Its unit is watt or Joule-sec.

o fAgd &1 H R sryar fagd Faif ovg Ht @ 31 fagd
QTfeh FEd €1 D! $HT8 dTe UT J[A-THE 8l

20. An electric bulb of 200 W is used for 5 hours
per day. Calculate the energy consumed by the
bulb in a week..200 W &1 Ue fag[d dea ufafds s e
IYTNT a1 ST 81 U TATE § Fod gRT WU HF T8 FHoll
CARIEIE:

(a) 0.1 unit

(b) 0.7 unit

(c) 7 units
(d) 1 unit

RRB Group-D 15-10-2018 (Shift-1)
Energy used in a week

Consumed energy = (Wattxhours x dayx no.

of equipment)/1000

- 200x5x7 7000

— = ——=T units
1000 1000

21. A 750 W electric iron is used for 8 hours per day.
So the energy consumed in one day by iron is ? /T®
750 W fagd sxadt &1 3uziT ufafas 8 € & faw fasar
SITAT 81 A W18 gRT Ue a7 # |@ud &1 118 Fotf 87
(a) 60 units
(b) 0.6 units
(c) 600 units
(d) 6 units

RRB Group-D 03-10-2018 (Shift-I)

(d) Consumed energy = (Wattxhours x dayx

no. of equipment)/1000

750x8x1 .
= —————— = 6 units
1000

22. Which of the following devices detects the
current in the circuit? /Rafafad & & $i9 91 Iuawor
Ffhe # e ST TdT TTaT 872
(a) Galvanometer
b) Ammeter
) Voltmeter
d) Electrometer
RRB Group-D 03-12-2018 (Shift-I)

® (Galvanometer - It is a device used to

(
(c
(

detect very low current.

® Ammeter - It measures current passing
through a

® circuit. It is connected in series in a circuit.

® Voltmeter - It measures potential
difference between two points in a circuit.
It is connected in parallel with component
across which potential difference is
measured.

® FElectrometer - It measures electric change
or electrical potential difference.

o IR - UE 9gd SH YRT BT TdT T &
faw IuanT faar S arerT IueuT B

o TR - Ug a F TORA 1! YRT &1 ATYAT &

o ufthe. ug we Tfhe # sRae # ST g 21

o diceHicy - W Afe F 3t Rigsit & iw Twifda
SR Y HITAT &1 Tg IH T & AT FAMR d
ST g3 ® fOd 3R-uR wwifad sfar araT ST
2l

® SoagMIeR - T8 fagd ufvady a1 fagd favarmw
T T B

23. Which of these converts chemical energy into
electrical energy? /3 & S IATANS ot BT fagd
it # fkafcid Far 82

(a) Motor /AR

(b) Dynamo /sTa=aY

(c) Battery/cell /8c%/ac

(d) Generator /SReR
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RRB NTPC18.01.2017 (Shift-1) Stage lind
® We know that a battery or a cell is a source of
electrical energy. The battery converts
chemical energy into electrical energy.
o U IHA ¢ & e ur It fgga ot &7 v T B
Feit TR Fort B e Fot § uRafid ot )

24. Which of the following equipment is used to

transform chemical energy into electrical energy?

[FEfaRad & F 5T IuaRUT FT ITANT IS St B

g ot F Saert & farg fsar o 27

(a) Candle /HrHsir

(b) Photo cell /®rer I

(c) Battery /de&

(d) Electric motor/gaifagas Alex

RRB NTPC 02.03.2021 (Shift-I) Stage Ist

® Candle -~Chemical energy into light and heat
energy.

® Photo cell - Solar energy into electrical
energy.

® Battery - Chemical energy into electrical
energy.

® Electric Motor -electric energy into mechanical
energy.

25. Which of the following devices converts
chemical energy into electrical energy? /fgfafad #
DI AT IYGRUT IS Foft BT g Foit § gRaferd
FRAT8?
(a) electric heater.3@ifae® giex
(b) electric fan /fSSTetY @7 TaT
(c) hair dryer /faTeft &7 gt
(d) electric cell/fagld I«

RRB ALP & Tec. (14-08-18 Shift-Il)
26. Generator is a device which converts____./

SR U IURUT & 5 ____ giafdd oear g

(a) Thermal energy into Mechanical energy /dmdig
Foft & FifAs Fatt &

(b) Mechanical Energy into Electrical eneregy
[Tifas Fatt b fagd Foif &

(c) Electrical Energy into Thermal Energy /fdg]d Saif
I Ardiy Fatt #

(d) Electrical energy into Mechanical Energy /fag[a
Foff & TifAs Fatt &

RRB Group-D 07-12-2018 (Shift-1Il)
RRB NTPC 05.04.2021 (Shift-1l) Stage Ist
RRB NTPC 06.04.2016 (Shift-1l) Stage Is
27. Modern electrical generator works on ............
principle ?/3mgfA& fagd IR ... fgid w &
FRAT
(a) Electrical Induction /fagd tRor
(b) Magnetic Induction /&g BRoT
(c) Electromagnetic Induction /faegd gradhig tror
(d) Electrical Energy/fagfa Faif
RRB NTPC11.01.2021 (Shift-1) Stage Ist

28. Which of the following devices is based on the
phenomenon of electromagnetic induction?
[AfARad # ¥ S A1 IuRT faga by IRur
HEAT W TR 87
(a) Galvanometer /iea=eiey
(b) Bulb /ees
(c) Ammeter /TR
(d) Generator/aiRe

RRB NTPC 13.01.2021 (Shift-1l) Stage Ist

Electromagnetic induction is a phenomenon in
which a changing magnetic field across a wire loop
produces an induced emf. When a magnet and a
coil move relative to one another, magnetic flux
changes, and an electromotive force is generated in
the coil. The induced current is produced by this
electromotive force.

fegagada Ror ve Ut ger § f9wd v aR 7@ & R
& Seadl gabiy &7 U WRdT SUaus 309 aRal 81 519
TS 99 3R TP $5 Ue g & TTUE Iod &, aF Jabry
UdTE 9&c STaT 2, 3R et H U goiaeIfed g1 Icqa
E1AT 81 9 gelagIHIfed et gRT URd GRT Ieer gXell &1

29. Which equipment is used to transform
mechanical energy into electrical energy? /Tifas
Folt B fagd Fo1t & gao & o 5 Igaor &7 IggT
T Srar 272
(a) Photo cell /wier &
(b) Electric motor /gatfdgsd AlR
(c) Dynamo /sTa=aT
(d) Battery/dedt

RRB NTPC 09.03.2021 (Shift-1) Stage Ist
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Equipment

Conversion of Energ

Dynamo Mechanical energy

Electrical energy

1

Electrical energy

Electric motor Electrical energy 1
Mechanical energy

Photo cell Light energy il
Electrical energy

Battery Chemical energy 11

30. The instrument used to measure current is

called_____ 7

fagd anT &7 A1 & fow uge SR HI_____ Cia)

7T 872

(a) Battery/ded

(b) Voltmeter /aleedieR

(c) Meter /die®

(d) Ammeter/THiex

RRB NTPC17.01.2021 (Shift-1) Stage Ist
® Ammeter, is used for measuring either direct or
alternating electric current, The name is
derived from the name for the Sl unit for
electric current, amperes (A).

® The ideal ammeter has zero internal resistance.

® But practically the ammeter has small internal
resistance.

o  UHIER, T IUTNT UAE IT UATe! fAgfd &RT I HIG
& fore fasar Smar &, g 9 fage orr & fow waemd
1S, TR (T) & 11 & fovar mar 2

o el uer @1 ariale ufadrer =T &ar &1

o Tt ARG ¥U T THIER T TdRS UleRTY BIeT
grar 2l

3L is used in the automatic heating

appliances to control the temperature. /aTqHTT ST
frifad s & fow Warfaa ama o #
BT 3TN T STeT 8

(a) RectifierRfaemrR

(b) Transformer /eA®RR

(c) Voltage regulator/dieest fFams

(d) Thermostat/2wiee

R.R.B. JE. Stage - Il 01-09-2019 (Shift - Ill)

® In order to control the temperature in the
automatic heating appliances, the
thermostats are used/¥arfeid €T Iueult
T argHT Y Adfad & & fav gwfee &t
I 3T ST 1

32.Which of the following is NOT an example of

the heating effect of current? /Aafafad T S AT

g urT & Ay yTa T IeTeRor A€ &2

(a) Electric iron /fasteft st

(b) Working of a fan /td &T &1 ST

(c) Bulb /e

(d) Electric kettle/s@fagd drait

RRB NTPC17.01.2021 (Shift-1) Stage Ist

® When an electric current is passed through a
conductor, the conductor becomes hot after
some time and produces heat.

® This happens due to the conversion of some
electric energy passing through the conductor
into heat energy. This effect of electric current
is called the heating effect of current.

o T frelt aree A faga unT varfed & Sl & Y
FHY §1G <TcTdh TTH 81 ST & 3R FeAT T et 21

® AT ITAP A oA Tl $© TIed FHoff B ST Holl
# gRafdd g9 & RO EraT 81 faga anT & 57 uvma
HT YRT HT AT IS F&T AT 2

33. A voltmeter is an instrument which can detect
the presence of ............... [areeHieR T AT ST &
£ | & IufRDfA BT gdT T Thar &
(a) Heat/3sm
(b) Vibrations /&u-
(c) Magnetic field /Js$T &
(d) Potential difference/favar=R
RRB NTPC17.01.2021 (Shift-1) Stage Ist

34. Which of the following devices is used to
convert alternating current into direct current?
[FEfARad & I {5 ITSROT BT ITTNT TeATadl! &RT BHY
fawe urT & uRafda s & fae fFar smar 872

(a) Rheostat/f3mee

(b) Capacitor /&&=

(c) Rectifier/Xfaemrar

(d) Calorimeter/&afiiex

SHIPRA CHAUHAN



GENERAL SCIENCE- PHYSICS- ELECTRICITY PART -2

RRB NTPC 23.01.2021 (Shift-Il) Stage Ist

A rectifier is an electronic device that converts an
alternating current into a direct current by using
one or more P-N junction diodes. A diode behaves
as a one-way valve that allows current to flow in a
single direction. This process is known as
rectification.

35. Which of the following device protect electrical
devices from voltage spikes? /Fafafaa & ¥ a7
IUFRT I IUSRUTN Y e TS & ST 872
(a) voltage load /aleeS oIS
(b) surge protector /3fg &/
(c) heat protector /d1q &
(d) current protector/aic 38/h
RRB NTPC 17.01.2017 (Shift-1) Stage Ist

36. Which of the following devices is used to
measure electric current?
faga arr 1 7w & foav Fafafed & @ e e o
I fvaT ST 82
(a) galvanometer /iica=Hiex
(b) ammeter /THeX
(c) rheostat /RaMra
(d) voltmeter/ateeHiex

RRB ALP & Tec. (13-08-18 Shift-I)
It is a device used to measure the current in a
circuit. It is generally connected in series in a
circuit. This is because the current remains the
same when devices are connected in series. The
ideal ammeter has low resistance because the
reading will change as an extra resistance is added
in series.
UE T IURUT & et IuahT gfthe o ol & 71a &
o fasar SiraT €1 78 38 dR W U Tfche o sRaer o 33T
BT 81 QT safaT & ifes Siw fRared sraer A R &€
T e T AT 21 3rmest uHier o ufeky &H €T €
FUIfS sRaeT O STfafes ufoRie Sies W A3 sao st

37. Which of the following components store
energy in the form of electrical charges? /fFAafafad
H T B AT IeE Folt BT fAgd AT S ¥ H TR Har
&7

a) Capacitors

b) Transformers
) Resistors
)

d

—_— o~ o~ —

Inductors
R.R.B. JE- Stage - Il 31-08-2019 (Shift -)

e Capacitors are a basic component of

electronics and are an integral accessory to a
host of applications. The most common use for
capacitors is energy storage, power
conditioning, electronic noise filtering, remote
sensing and signal coupling/decoupling.

o FAIMR gAaelNad BT Udh g Ted ¢ 3R &

ST & v Ue sifid Jemas Iuawur 8| FufieR
& fU T 3T IUTNT Fof WSRO, UTaR HIIRTFHTT,
golqeie AR fheefim, Rte AT ok Rue
Fufci/fEaisfam &1

® 3 capacitor works as a A.C. and D.C. both./ T&

$URX A.C. 31k D.C. ST & v & &rf &har 2

® The capacitor's function is to absorb and store

electrical energy that can be used to start up
the fan motors and to keep them running./
T BT 1 A St o @iy ik Fuda
FRAT & FTeT ITThT 1A Y Wit &Y I I 3R
3% 9T Wa & fare R ST Ter 2

® The unit of electric capacitance is the farad

(abbreviated F), named after the English
physicist and chemist Michael Faraday. The
capacitance C of a capacitor is the ratio of the
charge Q stored in the capacitor and the
applied DC voltage U: C = Q/U./ faga arfkar &t
gopTe URTe (Efae s uw) 8, foe A sieht
ifae AT 3k e ATsdd URTS & 910 W WaT
AT 81 U AuTRA & aTiar C, Turha # SUdid 9ret
Q 3R @y Rt aieest U: C = Q/U &T 3rguTd 81
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38. Which of the following is based on the heat
effect of electric current? /Fafafad & & 4 faga
HRT & AT THTT TR STLTRA 872
(a) Microwave /ATSsiaa
(b) Electric heater /goifaga glx
(c) Electric fan/fSStett &1 dar
(d) Electric bell /fasteft &T Uar

RRB Group-D 10-10-2018 (Shift-1Il)
Electric heaters are based on the heat effect of the
current. In this device filament of nichrome is used,
whose melting point is very high. When an electric
current is flown in the heater. So it gets hot and
emits heat
fagd ieX uRT & A19 wTa W 3meTRa 8 &1 3 IuaRoT
# g & e &1 IumT f5ar ST 8, Sraer
TP 9gd 31f8e 8T 81 99 €iex § fage urT yarfed &
STt 81 Y T8 TH &1 SfTT & iR THT IeAford Par &

39. Which of the following devices is not based on
the heating effect of electric current? /Fafafaa &
DI AT USRI fAgd URT & AT THTG W TR T8
87
(a) Electric bulb (with filament) /s@faTs So9
(Fremie & TTy)
(b) Electric heater /gaifaga® glex
(c) Microwave /dTg®iaa
(d) Electric iron /fastef! gt

RRB Group-D 10-10-2018 (Shift-1i)
When an electric current flow through a heating
elements like, electric heater, electric iron etc then
it get heated. By Joule's heat law-
S ATa dedt S T e, faga seart anfe # faga amr
yaTfed gt & o g T & Srar 81 5[ & a9 | gri-
H= I'RT

40. The value of resistance of an absolute ammeter
should be:
& fRUeT THier & UfokTy &1 A g1 91t w:
(a) high
(b) low
(c) very low
(d) very high
RRB J.E. (14.12.2014, Yellow paper

The value of resistance of an absolute ammeter
must be very low. The internal resistance of an

ideal ammeter is zero.

ROg T} & UfRIY &1 A9 9gd HH 141 91feV| Uh
et wHfier &7 ariafe ufeRiyr S g B

41. Which instrument is used to measure electric
current? /fagld grT ATY & feC fba Iueor 1 uaT
v ST 82
(a) potentiometer
(b) galvanometer
(c) ammeter
(d) voltmeter
RRB Group-D 30-10-2018 (Shift-IIl)

42. ... commonly used in electro-heating devices.
/. .. 3MHAR W faga-ara Iuavo § IuznT T SraT 2
(a) nichrome
(b) copper
(c) iron
(d) aluminum

RRB Group-D 26-09-2018 (Shift-1i)
Generally, nichrome is used in electroheating
devices because its melting point is the maximum
and a alloy made of a mixture of nichromenickel,
chromium and iron. It is used to make resistive
wire.
HTHT: AT$hTH DT TGN fAg[d dTa Iuevi § fobar Srer
2 T STHT TeTe fAddaw g1aT & UT I AIeHd
e, Sty agr e & Asor @ o sy a1g &1 5T
ITENT wfekteas dR §99 & fove favar Sirar 21

43. Which of the following is not based on practical
applications of thermal effects of electricity?
[FofaRea & 3 o9 e & arda yvet & amagie
SuET W TR TE 872
(a) electric flat iron /sifdes e SMRT
(b) electric toaster /gaifag® TR
(c) electric kettle /geifaga et
(d) electric bell/fasTeT &t €@t
RRB Group-D 20-09-2018 (Shift-)
RRB Group-D 24-09-2018 (Shift-1i)
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44. The working principle of power transformer is
based on ....... /UT&R THGIHR &7 &1 B ... W
Sreha B
(a) Hooke's law/g® T fog
(b) Newton's law /== &t am@
(c) Einstein's theory/3mEg&H & figia
(d) Faraday's law/3RT3 &1 faw

RRB NTPC 07.04.2016 (Shift-1l) Stage Ist
A transformer is a device used in the power
transmission of electric energy. The transformer
current is AC.
TIAHTR U Iuaur B fageT Iuhi faggd Foif & weror
7 o ST &1 SRIBTER &1 B AC Bl

(a) Alternating current /aaTadt Rt

(b) Direct current /Ucger gRT

(c) Both alternating and direct current /geamadt iR
TI&T grT =T

(d) Pulsed direct current/Ifed Ueuer aRrT

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

A common transformer operates on alternating
current because if it operate on DC then there are
no any flux cut between the winding therefore no
e.m.f. produced in the core. Therefore a common
transformer only operate of AC.

TS ATHIT TIABER TTad] €RT TR ST &Rl & aulfe
e 7g SN W 10 T B Y AR & 9 P Tt
& TEl €T € ST D18 §.TH.U. TéT &1 81 SR A
ITfad. $HfAY U | CHAHIR Sad THT & Harfad
BT 8l

46. In an ideal transformer: /T& 3mesf AR O:
(a) There is no resistance in the coils /®fged A @8
gfadre 7€ @
(b) There is no loss in the core /&R # ®IE JHIT &l
g
(c) The core has infinite permeability (magnetism)
/@R B 3T URITEET (deche) &
(d) ALl of them/a T+t

RRB J.E. (14.12.2014, Green paper)
An ideal transformer has the following

characteristics:

® Both coils have zero resistance.

® There is no loss in the core.

® The core has infinite permeability.

® |deal transformers have 100% efficiency.
& et s # Fafafad fadvan gd &

o oM gefoat &1 ufadty o 21

o FRHADI T AL 2l

o TR H Id URTET &

o  araef TrAKER &Y T&IAT 100% BT 21

47. Which of the following is not a basic
component of a transformer: /fRafafed & ¥ o
TG BT o e 781 8
(a) Core/®R
(b) Primary coil /urafiis® $sa
(c) Secondary coil/AaTeafiis $ea
(d) Mutual flux /IRTIR® waTe

RRB J.E. (14.12.2014, Green paper)
Mutual flux is not the main component in the
transformer. Mutual flux arises when electric
supply is supplied. The main components in a
transformer are:
(i) core,
(i) primary coil,
(iii) secondary coils
TIAHTR # URRE UaTE I3 Ued T8 ¢l 99 fagd
STl BT AT & AT IRIARD TaTe Ieqd BT 8| TRABIR
ﬁﬂ?ﬁﬂ'ﬂﬁ%
(i) PR,
(ii) wrafis Higa,
(iii) TF=T Bt

(a) frequency /3mafy

(b) voltage /aTeest

(c) current /axe

(d) both current and voltage/ae 3R dreest EH
RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

The transformer is a stationary device acting on

the principle of electromagnetic induction, which

transfer electrical energy from one circuit to

another at the same frequency. It changes the level

of voltage and current.
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TRIGTR fagfd g IR & RAigid W S8 F 916 T
&R Iuawor &, St faga ot & Us & smgfy W v Tfhe
J TR Gfthe # WHTART dRaT &1 T8 dieest 3R ae &
TR $ g AT &l

49. ........ metal is used to make the filament of a

light bulb - /........ YTq T ITTNT U1 el BT Therre

T & T far Smar @ -

(a) Nichrome/arss®

(b) Copper /disT

(c) Nickel /fRd¥a

(d) Tungsten /ém¥ed
RRB Group-D 24-09-2018 (Shift-1)
RRB Group-D 25-10-2018 (Shift-I)
RRB Group-D 28-09-2018 (Shift-1i)

) Ampere-hour

b) Voltage
Battery load
Volume of electrolyte

RRB J.E. (14.12.2014, Yellow paper)
Battery capacity is expressed in ampere-hour. The
amount of available charge is the capacity of cell or
battery which may be expressed in A.h (ampere-
hour)
e ermar TRiR-Ee H I7h I ST &1 IUASY Tt bl
AT A TT §e& ' emar & A ALh (vefieR-ger) & oxh
a5 WopeT &

NUMERICALS

Which of the following is a conductor of
electricity ?/ fufafaa & & $ faga 1 garas 82
(a) Copper/ dfar
(c) Phosphorus./ BRBRA
(b) Sulfur / e
(d) Nitrogen / ATggla=
RRB JE 02.06.2019 (Shift-1V)

Besides,. ... .. non-metals are bad conductors of

electricity. /. . . . & BIg I, MUY e & FaTS
gl &l

a) Graphite / ¥f&T
b) Nitrogen / ATggra
) Sulfur / g

)

d) Hydrogen / grggie
RRB JE 29.05.2019 (Shift-1)

—_— o~ o~ —

Which of the following are insulator? / fRgfafaa &
A BT AR E?
A Mica and Quartzs / 319 3R F@Test
B. Metal and Rubber / ¢Tq 3R 3R
C. Metals and Mica / 41q Td 31y&
Code:
(a) A and B only
(b) A and C only
(c) B and C only
(d) A only
RRB ALP & Tec. (29-08-18 Shift-I)

Which of the following solutions is not a conductor
of electricity? / fFafaRad # & o a1 feraw g &1
gaTels T8 87
(a) Sodium hydroxide solution / HIf2aH gEgIaAES
e
(b) Glucose solution/ Tt faea=
(c) Acetic acid solution/ vfafes s fdea
(d) Hydrochloric acid solution / EEgIaRS TRAg
e

RRB ALP & Tec. (29-08-18 Shift-I)

Substances in which electric current can flow are
called the conductor of electricity normal solution
or aqueous solution i.e. conductor of electricity are
called electrolytes. Such as sodium hydroxide
(NaOH) solution, acetic acid (CH3COOH) solution,
hydrochloric acid (HCL) solution, nitric acid (HNO3)

solution, etc. While glucose solution is not an
electrical conductor. / 3 uardf fa=# fagd arT varfed
B TFd! 8, TaEd & gaTois Seard &, Iy fdera= ar
Stefta e arufq fagd & gares seard €,
SATCIATScH HEATd 8| S TfEuy gregiaarss (NaOH)
o, Tfifes ufis (CH3COOH) O, Esiawiig s
(HC) ©er, wrefee uRis (HNO3) Hiet afe| ST
TSt Tet ey TTeres Y 21
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Ohm's law describes the relation between. . . . and.

LA TS AT ey ST HEaT e . . . 3R

(a) Electric current, electric charge / fag[a amr, faga

3TraeT

(b) Electric charge, time/ fag[d srrasr, ¥wy

(c) Potential, electric current/ Fwifdd, fagd arT

(d) Potential, electric charge / Jwfad, fdgga smaer
RRB Group-D 03-10-2018 (Shift-IlI

214. Which of the following devices is used to
convert alternating current into direct current? /
FafaRed & 3 foa Iuaur ST ITanT yad! arT &
fare grr # uRafda e & fore fFar smar &
(a) Rheostat / Rairera
(b) Capacitor / Capacitor
(c) Rectifier / deltad
(d) Calorimeter / SedHeR

RRB NTPC 23.01.2021 (Shift-Il) Stage Ist
Ans. (c) : A rectifier is an electrical device that
converts alternating current (AC), which
periodically reverses direction, to direct current
(DC), which flows in only one direction. It is
significant that, alternating current (AC) is an
electric current which periodically reverses
direction and changes its magnitude continuously
and DC is opposite to it.
Capacitor-A capacitor is a device that stores
electrical energy in an electric field.
Rheostat- A rheostat is a variable resistor which is
used to control current.
Calorimeter- It is used to measure the heat.

215. A.C. is converted into DC by.............
(a) condenser

(b)

(c) amplifier
(d) filter

rectifier

RRB NTPC 31.03.2016 (Shift-1l) Stage I5¢
216. The electric motor transforms ...................
(a) Mechanicalenergyintoelectricalenergy
(b) Thermal energy into electrical energy
(0)
(d)

Electrical energy into mechanical energy
Radiation energy into electrical energy

RRB NTPC 06.04.2016 (Shift-1) Stage 15

RRB Group-D 23-10-2018 (Shift-I)

An electric motor is an electro-mechanical machine
that converts electrical energy into mechanical
energy.

217. Which of the following device protect electrical
devices from voltage spikes?

(a) voltage load

(b) surge protector

(c) heat protector

(d) current protector

RRB NTPC 17.01.2017 (Shift-1) Stage I5¢
Surge protector- Surge protector used for the
protection of equipment due to over-voltage,
transient caused by external or internal events.

219. Which of the following components store
energy in the form of electrical charges?
(a) Capacitors
(b) Transformers
(c) Resistors
(d) Inductors

R.R.B. JE- Stage - Il 31-08-2019 (Shift -1)
Out of the following, capacitors is a device which

stores charges.

220. Which of the following is based on the heat
effect of electric current?

(a) Microwave

(b)

(c) Electric fan
(d) Electric bell

Electric heater

RRB Group-D 10-10-2018 (Shift-IIl)

222. Which of the following devices is not based on
the heating effect of electric current?

(a) Electric bulb (with filament)

(b) Electric heater
(c) Microwave

(d) Electric iron

RRB Group-D 10-10-2018 (Shift-I1)
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Ans. (c) When an electric current flow through a
heating elements like, electric heater, electric iron
etc then it get heated. By Joule's heat law-
H=1%Rt

Electric heater, electric iron and electric bulb are
used heating effect of electricity. Microwave does
not use it.

A common transformer operates on ............
a) Alternating current

b) Direct current

c)
d)

(
(
(c) Both alternating and direct current
(d) Pulsed direct current

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

Which of the following is not a basic component of
a transformer:

(a) Core

b) Primary coil

) Secondary coil
)

d) Mutual flux

(
(c
(
RRB J.E. (14.12.2014, Green paper)
Mutual flux is not the main component in the
transformer. Mutual flux arises when electric
supply is
supplied. The main components in a transformer
are: (i) core, (ii) primary coil, (iii) secondary coils

Transformer converts ..............
(a) frequency
(b) voltage
(c) current
(d) both current and voltage

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)
The transformer is a stationary device acting on the
principle of electromagnetic induction, which
transfer electrical energy from one circuit to
another at the same frequency. It changes the level

of voltage and current.

The induced current is highest when the direction
of motion of the coil is ——----- relative to the
magnetic field ?

(a) 180°

(b) 45°
(c) 90°
(d) 0°

RRB Group-D 18-09-2018 (Shift-I)

MAGNETISM

1. When electric current passes through a wire,
everytime a deflection occurs in the measuring
needle. Whom among the following firstly
observed this carefully.
9 faft ar & g urT yarfea gt &, &Y & IR 7o
et 8 | fagmur grar 81 Fofafed & & o ve8 uga
T o O qaT?
(a) William Sturgeon /faferaw weoiq
(b) Hans Christian Oersted /&9 ff8aT afes
(c) Thomas Alva Edison/aTaa 3wt Uf3d
(d) C V Raman/dt df @7

RRB NTPC 26.07.2021 (Shift-1l) Stage Ist

2. Which direction does the freely suspended
magnet indicate? /¥dd T I oIl g3T oo fobr faem
1 M AT 872
(a) East-West
(b) North-South
(c) East-north
(d) West-south
RRB NTPC16.04.2016 (Shift-1) Stage Ist

3. Which is not attracted by a simple magnet? /&9
T ATURUT Yo gRT DN &1 i1 272
(a) Iron/eirgr
(b) Gilt (nickel) /firee (Rea)
(c) Bronze/&i@m
(d) Steel/=reT
RRB NTPC Stage Ist19.01.2017 (Shift-1)

® Diamagnetic Substances- Those
substances which are magnetized in the
opposite direction of the field when placed
in the magnetic field. Such as - zing, silver,
bronze, copper, gold, diamond etc. So
bronze is not attracted by a simple

magnet.
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® Paramagnetic Substances- Substances
that are moderately magnetized in the
direction of the field when placed in the
magnetic field. Such as - aluminium,
sodium, platinum, oxygen, copper

® chloride etc.

® Ferromagnetic Substances- Substances
that are placed in a magnetic field become
strongly magnetized in the direction of the
field. Such as - iron, nickel, cobalt etc.

o yfdgrdly yard- d uard St gy & § [/
S W &7 & fAgda e & grafad g s §)
37 HIGT JTYRUT TED F MDA &1 BT

®  ITIIRhIY Uard- d uard St ey &7 7 [
ST W & Y feum & wery U A T € B
N - vegHifam, Sifegw, wifeam, siadior,
GIEL

® TIRISS AT

o citedediy vard- St are Sedhi & W@ S
¥ & B R F ve w9 A Jafhd € o &
S - citeT, e, Fiaree i

4. The metal detectors operated on which of the
law : /e fReaeR i S W Torfad €19 &:
(a) Civil law
(b) Newton's law
(c) Faraday's law
(d) Coulomb's law
RRB NTPC Stage Ist 28.04.2016 (Shift-Ill)

5. Who demonstrated by composition of
electromagnetism and light that light is an
electromagnetic wave?

e g SR UTer HF TaaT ¥ fhem vefia foar i
TSI U fefd gy aam 87
(a) Isaac Newton/3mg3ted e
(b) Carlo Rubia /&TaT sfaar
(c) James Maxwell /o=T Hgaa
(d) Sheldon Glashow/<tes- TaTar
RRB Group-D 05-10-2018 (Shift-I)

6. What is the term for the area around a magnet
where its effect can be detected? /Ja& & 3T &
& BT T DA & ST8T $Td TUTT BT TdT @ITT ST ThelT
27

(a) Electrostatic field /geaeRefed &=

(b) Stationary field /f&x &%

(c) Gravitational pull /TFaTeyur Rdama

(d) Magnetic field /ga&rT &

RRB Group-D 26-11-2018 (Shift-Il1)

® The region around the magnet in which the
effect of magnetism is experienced is
called the magnetic field. This is a vector
sign. Its unit is Weber / meter2

® . Its CGS unit is Gauss and Sl unit Tesla
and 1 Gauss = 10-4 Tesla.

® I & IRI 3R T a8 &7 fATH gada H1
UYTT IJUT &7 &, JIH1T &7 HeATal 8| T8
T afeer g 2. 30 3o dw/fiee @

* . SHD! HISITH TS T 3R THIANE gohTs eFell
2 iR 1717 = 10-4 T B

7. Which of the following forces is not
electromagnetic in nature? /FafafEd § ¥ S AT A
upfa # fagga grdig &l 872
(a) Weight of body /2RR &7 ao=
(b) Tension in rope /A& & d-1a
(c) Frictional force /erdfur a1
(d) Electric force in spring/fi & fag[d st
RRB Group-D 12-10-2018 (Shift-1ll)

The weight of body (force) is not electromagnetic

in nature./RR & ol () UHid # fagd g &
2l

8. What will be the direction of the magnetic field
at a point below a horizontal electric line with a
current flowing from east to west when viewed
from the west? /Tfg" ¥ 3@ W gd § UfFd & 3R
yaTied fagd arT ard’ dfast fagd war & 9w g ™
I g b fae T gnfr?

(a) clockwise /ef@omad

(b) parallel to the current /4RT & AR

(c) anticlockwise /amdTad
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(d) perpendicular to the current /4RT & wadd
RRB Group-D 17-09-2018 (Shift-)

® According to the rule of right hand thumb,
the direction of magnetic field will be
anticlockwise.

o IR g1 & IS & Ay & rguR dadg &7
&t faerm amATad gnfly

8. Which of the following is a unit of magnetic
flux? /Rufafaa & & S Jedhig vare 6 w78 872
(a) Tesla /e&T
(b) Coulomb /et
(c) Weber /as®
(d) Ampere-turn/TrfiR-a+

RRB J.E. (14.12.2014, Green paper)

~

& = BA Weber

B= 2 Weber /m’
A

9. The electromagnet has ? /f3gd ge § 272
(a) Soft iron core /=RH wIg HR

(b) Steel core /T ®R

(c) Nickel core /fR&d &R

(d) Copper core/®R &R

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

The material that behaves like a magnet in the
electric field, and the magnet's properties cease on
removal of the electric field. This is called artificial
magnet. Soft iron is used to make artificial electro

magnets.

38 yerd S faegd & o 9 6 IRE UIER Fwar § 3R
e &7 geT fou S W g9 & ur JAT & S 1 5

FT JF Fed Tl FHT e g6 R & fav ®Re
g &7 ITANT AT ST

10. What will be the reverse of permeability?
/ORI &7 fadia 9T g?

(a) Conductance/s|Te

(b) Sensing /dde&T

(c) Reluctivity /arfa=et

(d) Permittivity/wfafefefadt

RRB ALP & Tec. (29-08-18 Shift-1)

® Reluctivity is the reverse of the
Permittivity resonance. /3798, TRITRIAT
yfaaf &1 faudia 2

® Unit of magnetizer = Henry / meter

11. The induced current is highest when the
direction of motion of the coil is ~—————- relative
to the magnetic field ? /9T &RT I=TqH gl & o9
el &) I Y R Seehr & & Trde B 22

(a) 180°

(b) 45°

(c) 90°

(d) 0°

RRB Group-D 18-09-2018 (Shift-1)

The induced current is highest when the direction
of motion of the coil is 90° relative to the magnetic
field.

12. The purpose of the amplifier is to: /THITHIIR HT
I
(a) To increase the voltage, power or current, of
the input signals. /g9ge AU & alecsl, UTeR AT B
& ggM & fav|
(b) Decreasing the weighted signal under its input.
/9 gIqE & dad WA fAUe o1 7 1|
(c) Causing distortion in the weighted signal. /¥TRd
e # fagfa dar o
(d) Both (b) and (c) /2T (&) 3R ()

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

® The amplifier is used to increase the
voltage, power or current of the input
signals. An amplifier is a device that
changes the value of an electrical signal
(often making the signal larger) the
electrical signal can be in the form of
voltage or current.

®  TWAEIHRR &7 IUTNT 1Yc fOud & diee, UTR
T e B 91 & foT fHaT SITaT & TUATBRR
T IUGRUT & Y g v & Yod 1 geetdr @
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(3R AT &Y 52T 1T B) Fegd Rvet et
T e & T | g ThaT 2|

13. MOS stands for -/MOS @ 31ef & -
(a) Metal Oxide Semiconductor
(b) Most often Store
(c) Method organized Stack
(d) None of these
RRB SSE 21.12.2014

® MOS stands for Metal Oxide
Semiconductor. It is a semi conductive
technique used in transistors
manufactured in most parts of a
computer's microchips. The semi-
conductors are made of silicon and
germanium.

®  THINTH & Addd Hed Jadres Aihsae? &
Tg T 31 JaTehr a1 8 foradT IuanT
FUR F ATHIIH & rfawter fewdt § [ffa
gifoRex # fovaT ST &1 srefaree RAfaei aik
STHfAEH F &9 8 2

14. To obtain a P-type semiconductor -
P-USR srefarae U & & v -
(a) The impurity having five valence is added. /ai=
HISTHAT aTeil S ST STy B
(b) Three valent impurities. /&9 e srgrfaat
(c) Both types of compounds /g &R & difiie
(d) None of these/aH &R & TifM®
RRB SSE (21.12.2014, Set-07, Yellow paper)

® To obtained a p-type semiconductor a
trivalent impurities like, aluminium, galium,
indium etc are added to semiconducing
material like sillicon or germanium.

o T-TPR 3refTas U T & fow Ty,
ey, €feam anfe Skt A-3eie syrfeat &
fafeipi ar sfaam St srefaTes ammit &
ST SiTaT 81

15. Tunnel diode is a /T S T &

(a) High resistivity p-n junction diode /3=T
iR dT d-TF SR s1als
(b) Slow switching device /&fiHft Rafai fearsa
(c) Amplifier device /TTTHRR f3argd
(d) Highly doped p-n junction diode/3rfais e
M- SR STt
RRB J.E. (14.12.2014, Green paper)

16. Doping in semi-conductor glossary is: ./3Hi-
FeaeR AETae! H T :
(a) Semi-conductor is a process of purifying
matter. /3Hft-Faaer UaTd @ g TR I TS ufehar B
(b) Doping is a process of increasing the electrons
or holes. /AT saaer=! a1 gl & gem & v ufgsar
2l
(c) Is a process of increasing external atoms. /&T&d
RATUL3T &Y Ig 6 TS fehar &
(d) Is a process of increasing the biased
potential./T&dTT &HAT BT Tg ST T UfHAT B

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

17. Germanium is mainly used for ...... /SHATHE &1
UGN ReT F F ...... & g fasar Simar 21

(a) Mediator/qeRyr

(b) Semiconductor /aHidsaey

(c) Conductor/@sdx
(d)

d) Insulator/ggaiex

RRB NTPC Stage Ist 19.01.2017 (Shift-11)
RRB NTPC 17.01.2017 (Shift-1l) Stage Ist

18. ........ was later discovered and replaced with
silicon. /........ F a1¢ § Wi T 3R RAfes & sea
fea |

a) Rubidium/sfafeaw

b) Scandium /I&HfzTq

¢) Germanium/SH g
d) Gallium/ftferaa

RRB Group-D 05-10-2018 (Shift-1)

—_— o~~~

19. EKa-Silicon is known as- /S&1-Rafds & war
ST 8-

(a) silicon

(b) gallium

(c) Germanium

SHIPRA CHAUHAN



GENERAL SCIENCE- PHYSICS- ELECTRICITY PART -2

(d) Aluminum
RRB Group-D 26-09-2018 (Shift-11)

® Eca-silicon is known as germanium (Ge).
The blank space was left for the elements
which were not known by Mendeleev in
his periodic table, eca-silicon is one of the
elements and its properties were similar in
antimony and arsenic so it was placed in
element group 14.

o SoH-fafae o s (Sf) & v & ST
STAT 81 H3ea o ST 3ad ARuft 7 o dedt
& IR | Tl ST AT 39S fAw R W i fear
AT o, $T-RAfasi 37 aaf § 4w 2 ok
TF 10T T 3R siife # W & safaw
3 dcd UHEg 14 § a1 7747 ATl

20. In atoms of germanium, arsenic, selenium and

bromine there are ____ orbits. /SHATw, 3m&®,
Jafgm R T & AT d ____ S Erdi §
(a)7
(b) 5
(c)3
(d) 4
RRB Group-D 17-09-2018 (Shift-11)

Ge, As, Se, Br the electronic configuration of atoms
has four orbits. These are all elements of the
fourth period. The principal quantum numbers of all
elements of the fourth period are four. The main
quantum number represents the main energy level

shell in electrons.

Ge, As, Se, Br ATUET & Faiagive [a-0Td & IR
Femd &1 7 T 99 et & aca &1 IS 3mad & Tt aat
T TRT FaicH WAV IR §| Y3 Faicd IReAT seagHl §
TR o1l TR HILT BT T et

21. X-rays, now used daily in medicine for
diagnosis, were discovered by?/U?RET—?, I CREES
¥ fav Rifsr & fafes sogi T Srar €, & @
frad grRT &1 7 ofY?

(a) Wilhelm Roentgen /fdeed Auead

(b) Niels Bohr /e stex

(c) Ernest Rutherford /3 I&R®HIS
(d) Max Bone/&ag §19
RRB NTPC 11.04.2016 (Shift-1) Stage Ist

® X-rays which are now used daily in
medicine for diagnosis. It was discovered
by Wilhelm Réntgen. Neil Bohr and
Rutherford together discovered the atomic
structure.

*  THI-Y S o R # fem & faw A
UGN foaT ST 81 $HET Wit fdeed e 3
HY off| e IR 3R I@HIE F et TAT
TRT b IS T |

22. ____ uses Solar energy to convert sunlight into
electrical energy.
e g & ST B fITd St H uRafdd a3 & faw
TR FAT BT ITUNT T B
(a) Photovoltaic cells /micialfoed det
(b) Earth's gravitational pull /g2t &T EeaTHyur
IECEICH
(c) Ultraviolet ray /oRTaTY fasor
(d) Nuclear fission/q=yTy] fa@s=
RRB NTPC 05.04.2016 (Shift-11) Stage Ist

C
d

® Solar panels use light energy (photons)
obtained from the sun to produce
electricity through the photovoltaic effect
(this is the lightning effect).Photovoltaic
systems are used for on grid or off grid
applications and solar panels in spacecraft.

o Ik O widHfocs ywTa (ug fstel uvTa 8)
& Uy I faSTell &7 IcdTed avd & far gf
TS UhTT FolT (TBIET) BT TGN i &

23. Which of the following types of rays do not
enter the Earth's atmosphere? /fRufafaa & 3 faa
UHR 6 Tl gedft & argrser o vaer 7€ aet &2

(a) visible light /g UepTT

(b) X-rays /Tag-X

(c) radio waves/Xfear a&t

(d) ultraviolet rays/wRTaTT fasot

RRB NTPC 02.04.2016 (Shift-111) Stage Ist
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e Ultra-violet rays do not enter the earth's
atmosphere due to ozone layer of
atmosphere. An ultraviolet rays is a form
of electromagnetic radiation with
wavelength from 100 nm to 400 nm. It is
shorter than visible light but longer than
X-ray.

®  gIgHSH o NS IR & HRUT WISTHT ot
qedfl & argHse H TaLT e IR aTdT 8| WIS
faRUl 100 THEH A 400 TAUH T R 3 &
1Y faga T fAfaRur &7 v ¥4 2| 98 g
THTLT F BIE A oY F ot a1l &

24. In CT Scan, CT means .......... /3 T 8, Tt &7
(a) Cathode ray tube

(b) Computerized testing
(c)

(d)

Computed tomography
Compartmental tracking
RRB NTPC19.04.2016 (Shift-lll) Stage Ist

® CTin CT scan refers to computed
tomography, it is a specialized X-ray
technique in which multiple X-rays of thin
folds are taken.

®  X-Ray was discovered by Wilhelm

Réntgen (German).

25. In which year was Einstein's "Theory of Special
Relativity" first proposed?/ & &1 "fd2y ATderdr
&7 RAgia" Tgell IR T o wRearfae fsar mar ar?
(a) 1915
(b) 1905
(c) 1947
(d) 1906
RRB NTPC 31.03.2016 (Shift-111) Stage Ist

26. Which of the following scientists showed that
matter can be converted into energy and energy
into matter?

fufafad & & foa danfis 3 faamar & uard & ot &
3k Faf ot uard § uRafidd fFar o wear 22

(a) Robert Boyle/31a¢ afga

(b) Albert Einstein /3Tead 3MgT=

(c) Joseph Proust /SR® U3
(d) Jacques Charles /JaT aTed
RRB Group-D 03-10-2018 (Shift-111)

27. Where is the Nuclear Fuel Complex of India
situated? /R T WATY] $e URIR &l AT 82
(a) Hyderabad /&ez1aTe
(b) Hubli/gaeft
(c) Chennai /29€
(d) Visakhapatnam/faeTRara=a
RRB NTPC 22.02.2021 (Shift-1l) Stage Ist

® Nuclear Fuel Complex (NFC) is located in
Hyderabad. It is an industrial unit of the
Department of Atomic Energy, Government of
India.

® NFCis the onlyorganization in India which
caters to the fuel requirements of nuclear
power reactors.

® |t was founded in 1971. It provides supplies for
all 14 operating atomic power reactors in India.

®  TRATY $UF IR (THHHT) darrare # R 21 78
WRA ISR & WRATY JofT AU 6 T e
ThTE &l

o TIUGH YR &T UGHHTH TS & St TRATY] Solt
fruareRt $it Su smaTEHATa B R AT B

o T IYTUAT 1971 H §F oft| ug vra # Wit 14
HaTford TRATY] Hat RuaeRl & faw smyfd uer aar
2l

28. Nuclear fuel in the sun is- /9¥ # wRHT0] $e9 &
(a) Alpha particles /3TehT &HUT
(b) Uranium /93=zyg
(c) Hydrogen /gTggiom
(d) Helium /&feam
R.R.B. JE- Stage - Il 31-08-2019 (Shift -1)

Hydrogen is the nuclear fuel in the sun. It is
converted into helium by the process of nuclear
fusion.

T A ETESIS WATY] $o &1 T WHTY] Hera & ufehar
gRT §iferaw & gRafd g smar 2
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29. Who formulated India's three-stage nuclear
power program? /9Rd &T fA-<Rofta TRATY] FHoff
Frden fra TR faar?
(a) Vikram Sarabhai /fasw arRtyE
(b) Shivraj Bhoje /fiaRTeT it
(c) Homi Jehangir Bhabha /gIHT STtk e
(d) Raja Ramanna /3TSIT 37=T
RRB NTPC 12.02.2021 (Shift-1) Stage Ist

(a) Hyderabad /&ez1aTe
(b) Thumba/ T
(c) Kalpakkam /&eTgasH
(d) Mumbai/qsg
RRB NTPC 27.03.2021 (Shift-1l) Stage Ist

31. Which of the following is NOT used as a
moderator in nuclear reactors?/fRafaRaa & T faaer
ITTNT TRATY] Rudest # ATsvex & ¥ # T&¥ v S 272
(a) Boron /@RI
(b) Heavy water /9%t uTt
(c) Graphite /Jwrge
(d) Water/qrt

RRB NTPC 30.01.2021 (Shift-11) Stage Ist

® Light water, Graphite and Heavy water are
typically used as moderators in a nuclear
reactor.

® & UM, UBrse SR 9 Tt &7 IuTT
SMHAR R AT Ruaer & Afsver & 9 & fawar
ST 2

32. Which of the following was Asia’s first nuclear
reactor?/fREfafad & & S TT TfT &7 UgAT WRATY
fraae ar?
(a) Cirus/area
(b) Dhruva /ga
(c) Zerlina/Sifefr
(d) Apsara/3TeRT
RRB NTPC 31.07.2021 (Shift-11) Stage Ist

® “Research reactors are the back bone of
Nuclear Programme” said Dr. Homi J.
Bhabha, the Father of Indian Nuclear

Programme, in early fifties. “Apsara”, the
first nuclear reactor in Asia became
operational in Trombay campus of Bhabha
Atomic Research Centre in August 1956.

®  TITH &GP I YHATT H YRATY TIHTT]
PTLHH P S SI. GIHT S, WTHT = ST T,
"SI Ruaer WAT] Sried & O &1 i
PT UgeT TRATY] RUFeR "SR 30 1956 T
UTYT TRATY] AU g & g TRaR # ITe]
gaTT|

33. Which of the following is used as a fuel in
nuclear reactors? /GXATY] Ruaest # g9 & U o
fafafaa § & fedeT sugi T ST 272

(a) lodine/3marg=

(b) Uranium /93=odq
(c) Cobalt /PETee
(d) Copper/disT
RRB NTPC 07.04.2021 (Shift-1) Stage Ist

® Uranium is the most widely used fuel by
nuclear power plants for nuclear fission.
Nuclear power plants use a certain type of
uranium—U-235—as fuel because its atoms are
easily split apart.

o WY faRdEd F v wuTy) Foit Tt grT RfATw
TEY IS T T ST a1 S a1t $e 21
TRATY] Soll OF 3499 & §7 # UF Afgd TR &
RFTH-7-235-T ITTNT axd & Fid 59 W]
ST & v 8 o 2

34. The reason for the formation of plasma in stars
is: /AR T TATSHT S &T HROT &:

(a) high temperature /3=I a9

(b) high pressure /3= g8

(c) low pressure /&H &1

(d) low temperature/&H dTaHT

RRB ALP & Tec. (14-08-18 Shift-I)

® High temperature is the cause of plasma
formation in stars. The Sun is also a star.

® By nuclear fusion in the star, hydrogen is
converted into helium and a large amount of

energy is emitted.
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o ARl # wireHT AT &7 HRUT I=T ATaAT &1 9 oft
T ART 8.

o AN ¥ WA Helad gRT ETeEIoH &1 Eiferam &
uRafdd fvar sirar & 3R 98t g 7 et Scford
gl 2l

35. How many neutrons are in a hydrogen atom?
BTIESIoM WRHTY] § fbea e g 872
(a) one
(b) two
(c) three
(d) nothing

RRB NTPC 18.04.2016 (Shift-111) Stage Ist

® Hydrogen is the first element of the
periodic table. It is called the fuel of the
future. There is only one proton in its
nucleus.

®  EITEIN 3Tad ARuft T U de 21 5 widsy
T $UF FET SATAT 2. D A0S H Pl T
el g 81

36. Which of the following acts as a moderator in
nuclear fission?
fofafaa & @ 319 wu] fards & des & w0 d a1
FRATE?
(a) Hard water/<Jg art
(b) Pure water /< Tt
(c) Zionized water/fS@Tsss U
(d) Heavy water/Y Tr=t
RRB SSE (21.12.2014, Set-07, Yellow paper)

® Under nuclear fission, many high-speed
neutrons need to control the speed of
neutrons to slow down and maintain them
evenly. For this, substanceswith heavy
atoms are used.

® Such as - Hydrogen, graphite, heavy
water, barium, etc.

o AT fAWET F d8d, Fs I 1A aTel Ygid I
T A 3R 32 FHH ¥ F A0 W@ & fiw
T Y I B i e Y snavTdar gt

21 58 Ty w1l wATwET aTe vyt &1 IuhT
o STar 21
o  SRA- BIESIoH, Ypree, VI ST, SR anfe|

37. By what means does the sun's energy
generate? /{8 & Fo1l fbT ATEH F IH Gieil 872
(a) Nuclear fusion
(b) Solar energy
(c) Heat energy
(d) gravitational energy
RRB NTPC 28.03.2016 (Shift-1ll) Stage Ist

® The Sun's energy is generated through nuclear
fusion. Hydrogen bombs are constructed on
the principle of nuclear fusion.

o I &I FAT WHIY T &S HIETH F ITH Bl 2
BTEgIo g9 &7 fAafor waT] dera & fagia w fasar
ST &1

38. Nuclear fusion reactions occur spontaneously in

(a) Sun /=T
(b) Nuclear reactor /wRHATY] fuaer
(c) Sea waves /THET @EY
(d) Earth's core /g2dt ST &R
RRB Group-D 19-09-2018 (Shift-Ill)
RRB Group-D 24-09-2018 (Shift-11)
RRB Group-D 26-10-2018 (Shift-Ill)
39. In which year was the first nuclear test
conducted in Pokhran?/GRaX0T # UgT UIHTY] GHET0T
v o fasaT T am?
(a) 1972
(b) 1973
(c) 1974
(d) 1975
RRB NTPC 18.04.2016 (Shift-111) Stage Ist

40. In which year did India conduct its second
nuclear test in Pokhran?/¥Rd = URaR0T # STUHT GERT
TRYTU] WeT0T fos o fasaT om?
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(a) 1998
(b) 2003
(c) 1996
(d) 2001
RRB NTPC 13.01.2021 (Shift-1) Stage Is

ELECTRICTY EXTRA QUESTIONS FOR REVISION

1. When a bar magnet is cut into two equal halves
the pole strength of each piece-

I U SR IS Y al TAH 9t § fRurfSer fsar sar 2
AT TS YT 6 gy &HdT-

a) Becomes double / g € ATt &

b) Becomes half / ameft g1 STt &

c) Becomes zero / ¢ & ST &

d) Remains the same / qdad &I &<t &

2. If a magnet has third pole, then the third pole is
called-

IfE Ue IS H ARRT g4 8, AT TRRT g9 FeeTreT o-

a) Defective pole / @St ga

b) Consequent pole / HTd ¢a

) Extra pole / stfaRed ga

) Arbitrary pole / T&Uei ¢ga

C
d

3. Instruments can be shielded from the outside
magnetic effect by surrounding them with-
I gUTT J s & fAT ITFHR0T ST IRT RB I ST
feT ST 8=

a) Iron shield / @I & TRUT A

b) Rubber shield / 388 & 3TTaR0T I

) Brass shield / &1 3TaRT &

) Glass shield / HHTHd 3maRor &

C
d

4. The substance which conducts current in the
solid state is

Terdf foud oY srawyt & fagd varfed gar 8-

a) Diamond / &RT

b) Graphite / Jhrse

) lodine / Mg

)

C

d) Sodium chloride / Tf3aH T@RIES

5. Good conductor of electricity is
e[ &7 3BT IS 8-

a) Dry air / b &ar

b) Paper / TWw

c) kerosene / fogt &1 det

d) Graphite / 9rse

6. The device which converts AC to DC is

IUSRUT fITHT IUTNT UedTde! ¥RT &F fase arr (S).3) &
TR B & e e &-

a) Oscillator / Sd®

b) Amplifier / fa¥Re

c) Rectifier / faseaY

d) None of theses / IWiaw & HIg T8l

7. The fuse in our domestic electric circuit melts
when there is high rise in

TR R} # @ ee] fage uRuy § wye e St 81 5|
H g 31 §g ST 8-

a) Inductance / 3magr

b) Current / fagd arr

¢) Resistance / afeRrer

d) Capacitance / Harfe

8. The device used to change the speed of an
electric fan is

IUHRT foraepT waT fagfa oxa &t ifa fg=ror & fare fasar
ST 2

a) Amplifier / fa%Re®

b) Requlator / Tifa fAaHe

¢) Switch / Ra=r

d) Rectifier / faseamTd

9. A transformer works on the principle of
T RABIR & S & T g 8-
a) Self induction / ¥@ TRuT
b) Mutual induction / TRER TRUT
) Generator / SRR
) Inverter / 9a&R

C
d

10. Pure water is bad conductor of electricity
because it is

3T STet g URT &1 HaTerss T 8| Fif TE-
a) Feebly ionized / Rdelidd
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b) Not volatile / 3maia g &
c) A very good solvent / T& 9gd 31<8T fa@Tas gar &
d) A non-polar solvent / T& 3rgdd faemae grar &

11. Electric current in a metal wire is due to the
flow of-

uTfeas dR 8 fAgd URT & UaTg o1 HROT -

a) Electrons / goiag

b) Protons / Wil

c) lons / 3=

d) Holes / f&g

12. Which of the following is a good conductor of
heat but a bad conductor of electricity?
fafafad 8 & 319 I o1 garas =g fagd &1
FATAD 87

a) Celluloid / 9ge@ITs

b) Rubber / 3§

c) Asbestos / TolaTed

d) Mica / 319

13. Which of the following is arranged in order of
decreasing conductivity?
ffafad & ged gu fagd gareedr & srgaR sufoerd
=

a) Copper, Aluminum, Steel, silver / disT, Tegfafaam,
e, =idl

b) Aluminum, Silver, copper, Steel / Tegfafaad,
AR, 1R, e

c) Copper, Silver, Aluminum, Steel / TegfafaTm,
AR, 1R, e

d) Silver, Copper, Aluminum, Steel / AR, IR,

TgAty, Lo

14. If a copper wire is increased to double its
length, its resistance will become

Tfe 978 & TR BT IgTd §U TTDH!T RIS Y &l AT o fear
7T & A gt ufaRrer @ gn?

a) Four times / IRIAT

b) One-fourth / T& <targ

c) Double / gt
d) Half / 3mer

15. A device which is used to limit the current in an
electrical circuit is called

Ueh Iuaul it fagd uRay & fagd arr & Iugift Htar &t
FfRor T 81 T8 FAT Fecrdar 87?

a) Grid / s

b) Fuse / wgat

c¢)Hub /&«

d) Conductor / ITei

16. The earth-wire of a cable is connected to
FTA DY Y-S IR 37T 37 J SIST ST 8-

a) The outer metallic body of the appliance /
USRI & STE] UTfeded HIT I

b) The fuse of the appliance / IUSRUT & T A

c) The filament of the appliance / ITaRUT & i<
aJ

d) Short circuit of the appliance / 3uaRUT & ¢ Aidhe

H

17. The metal whose electrical conductivity is more,
is

eTq ot faga gaTeiadar afed gt 21

a) Copper / disT

b) Aluminum / Tgfafeaw

c) Silver / =Y

d) Lead / T

18. Moving electric charge produces;
nfaefiet faega smaer FuT I ava §?
a) Magnetic field / =& &7

b) Sound waves / &f¥ a3

c) Light rays / wrerer fasor

d) Heat waves / &g aar

19. Safety fuse wire used in domestic electrical
appliances is made of metal of low

By, fag]d IuaRUT # Uy GRET TSl R &l 41g BT e
el 8-

a) Resistance / ufeRra

b) Melting point / e favg

c) Specific gravity / fafre 7&a

d) Conductance / ITeledr

20. A fuse wire is made of:
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ST IR &7 €T &
a) An alloy of tin and copper / f&7 3R afa &1 v sy

arg
b) An alloy of tin and lead / fe 3R ofts &7 Us sy

arg

¢) An alloy of tin and aluminum / f&=1 ik Tegdifaw
ST TS o u1g

d) An alloy of nickel and chromium / fA&a 3k
ST &1 AT

21. A transformer work with

T gRAR fhad a1y o1 ot 8:-

a) Alternating current only /JeTad! &RT

b) Direct current only / fax &Rt

c) Both AC and DC / 3madf 9RT fate «mRT gt
d) Any signal / &8 T&

22. Which of the following is a good conductor of
heat

Aafaf@d & S ST $T =T I7de &7

a) Mica / \1gsT

b) Asbestos / TsaeeH

c) Celluloid / OdcTas
d) Paraffin wax / IRTTUHRA @I

23. ‘Farad’ is the unit of:

URTS ATATHD SHTS 8-

a) Capacitance / gTRar

b) Inductance / SRuT

¢) Resistance / afeRrer

d) Conductance / ITeledr

24. Ohm’s law is valid in case of
3 & Ao feg e # a7
a) Semiconductor / 3TEATA®
b) Conductor / dTeleh

c) Superconductor / Jfa<Teis
d) Insulator / 3@RTa

25. A current carrying conductor is associated with
ITetep ¥ TaTied GRT I 8-

a) A magnetic field / T& g &=

b) An electric field / T fag[d &7 &

c) An electro-magnetic field / @& fagd g=dT &7 O
d) An electrostatic filed / T& f@R-3gd &5 &

26. Super conductors are substances that
FfdrTeies @ yard ¢ i f-

a) Offer minimum resistance of flow of electric
current / fagd 9T & Ufe graw ufekry waffd od €
b) Conduct electricity at low temperature / A%
ATTHH W I I Tafid axd &

c) Conduct electricity at high temperature / 3=I
ATTHN W I I Tafid axd &

d) Offer resistance to the flow of electric current /

fagga T vare # 3= ufadry veffa ova €

27. In a conductor

ITeTes H-

a) There is no conduction band / T8 &g TTe &€
e

b) The forbidden energy gap is very wide / 388
Rfg S 3Tt 95 fawga gar @

c) The forbidden energy gap is very narrow / 318
Rt FoIf 3rRTet agd IH0f BT &

d) The valence band and the conduction band
overlap each other / e iy 3R I1e 9 RER
rfeuraT ava €

28. Unit of magnetic flux is :
ST TaTE dY HIATEHD TS 8-
a) Volt™ ampere

b) Volt/ ampere

¢) Weber/m?

d) Weber

29. The magnitude of current flowing between two
end points of a conductor is proportional to the
potential difference between them and it called as:
ol fagge aTeis # Y arfea ARt W varfed faega emr
BT YRATUN I ST & JHRTeA &HAT & favar=R &
FATIUTA gt | Tg 9T PEATA 87

a) Avogadro’s law / TaTmst &1 fAaw

b) Rault’s law / I3ce &1 fAgg

¢) Ohms law / 3T &7 fAgd

d) Faraday’s law / &1 &7 fAom

30. Which of the following was the first theory of
super conductivity?

Rwfda & o a1 sfaaTeiedr ugar R 272
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a) Ginzburg landau theory / firsrarf-wEt g

b) London theory / &= T8y

c) Resonating valence bond theory / 3rgifea Tarsht
CER°LE)

d) Quantum filed theory / d@T=en &7 g

31. Which one of the following is an ohmic
conductor?

f=ifea d @9 Nt e 87

a) Germanium / SHHfRTH

b) Silicon / fafae™

c) Carbon / &1&

d) Silver / =idY

32. Fleming “Left hand Rule” is associated with the
effect of

AT BT T B A fhad Ay aifaa 87

a) Electric field on current / &RT R fagdia &=

b) Magnetic field on magnet / =6 W gEHIT &7
c) Electric filed on magnet / 9s& W fagfdig &

d) Magnetic field on current / RT X 1T &=

33. Electromagnet is constructed with which of the
following?

e T Freifde & Ry ST ST 7

a) Steel / &t

b) Soft iron / 7H &Y&T

¢) Aluminum / Tqfafaag
d) Nickel / fdet

34. The fuse in an electric circuit is connected in
fagga oo & vger TS gar 8-

a) Series with neutral / IR AR & 1Y AT §
b) Parallel to live / Siifdd dR & IAMTER #

c) Parallel to neutral / 3N dR & IUMIR &

d) Series with live / Sfifad R & @19 g@er &

35. Which physical quantity is measured in
‘siemens’?

0= &1 ey Wiifdies fer grr ATaT S77eT 27

a) Electric potential / fage &mar

b) Electrical conductance / fagd areiear

¢) Magnetic flux / JHEHT Beladd

d) Refractive index / 3T9add TIHid

36. What is the unit of the physical quantity
“Capacitance”?

fifae 2y afear $ AETES sHTE T E?

a) Weber / a&R

b) Farad / &wrs

c) Tesla / e&aT

d) Ohm / 3

37. What is the unit of the physical quantity
“Inductance”?

Hifae A Tse~T 31UaT IRUT HI SR AFS THE
T 8?

a) Weber / a=&R

b) Farad / w13

c) Henry / 3

d) Tesla / ¢TaT

38. Unit of impedance is .

e ufaaTar 6t srRIsT A 5HhTE 2-
a) Ohm / 3™

b) Henry / &%

c) Tesla / eTaT

d) Hertz / &5t

39. If electric resistance is to be decreased, then
the number of resistances should be connected
in____
afe fagd ufeRiy & &1 7 81 d godd # 931 Tur d
TfeRTy S S ST ST IRY-
a) Series / Raelr
b) Parallel / IHMTR
c) Mixed arrangement / ffsrar dateH

)

d) None of these / 98 & &g T8I

40. The material used in electric heater is

e ez & Uy Pusch & vy g 21
a) Tungsten / &med

b) Nichrome / T8I
) Brass / &idr
)

d) Steel / g&Td

41. Which one among the following components in
used as an amplifying device?
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Frefafaa & fog due &1y fawaRs Iuawur & ¥ §
v ST 82

a) Transformer / TA®BIR

b) Diode / sT4ls

c) Capacitor / Furia

d) Transistor / gifSeex

A transistor is a semiconductor device used to
amplify or switch electronic signals and electrical
power. Transistors are one of the basic building
blocks of modern electronics. It is composed of
semiconductor material usually with at least three

terminals for connection to an external circuit.

42. The complete form of ‘IC" in electronics is
egadt o .Y &7 @T A B

a) Internal circuit / 3T=IRe WU

b) Internal circuit / g afkaer

c) Integrated circuit / Ui aRger

d) Inbuilt circuit / siafifea aRay

43. Transformer is a device to convert
TABIER U IUSRUT Sl Sl 2-

a) D.C to A.C. / ot 4RT &7 3radt arT &

b) Low voltage D.C. into high voltage D.C. / A=
fawe dleest &t 3= fane dieest #

c) Low voltage A.C. into high voltage A.C. / =
JTa] URT dleest BT I=T AT URT deest o

d) high voltage A.C. into low voltage A.C. / 3=
JTae] URT dleest B A JTad] aRT dtecst

A transformer is an electrical device that transfers
energy from one circuit to another by magnetic
coupling with no moving parts. It converts high
voltage AC into low voltage AC and vice-versa. It is
based upon the principle of mutual induction.
Transformers alone cannot convert AC to DC or DC
to AC; besides, they cannot change the voltage or
current of DC.

44. Which one among the following components
can not be developed within a “integrated circuit”?
e & whigd uRuy § -1 des Refia T8
g HSare?

Diode / sTdT8
Triode / TS
c) Transformer / er-OwIFR
d) Transistor / TifoRex

a

)
b)

45. Maxwell is the unit of which one of the
following?

frifda & fFad aeTas so1e feudd 82

a) Magnetic flux / grehra IR0

b) Permeability / ®RT=IdT

c) Magnetic susceptibility / grHT Fdeaefiaar

d) Intensity of magnetization / JrhITEHRUT Y UScTdT

46. Which of the following elements has the
highest electrical conductivity?

fenfda # f5a aa@ 6 g ITetedr Taicay 872
a) Copper / dreT

b) Silver / =Y

¢) Zinc / &I

d) Lead / T

47. What is measured by Ammeter?
arefieR gRT /YT ST B~

a) Voltage /dleesT

b) Electric Current / fagd ufaire

) Resistance / Ireihdr

d) Conductance /

48. When resistors are connected in series, then

net resistance .

9 UfeRYe} &1 THIe saerT # foar ST & o ufadr-
a) Increases / setft

b) Decreases / €Tt

c) Remains same / T\ &+ &7ft

d) None of these / IWRIad H @Ig =gt

49. What is the unit of resistance?

TfeRTe T TH. 31T T SRTET U TS T 872
a) Ohm / 3™

b) Farad / w13

c) Henry / &%

d) Weber / 3R
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50. Electric Motor converts

energy to
mechanical energy
faga Mer........ ST B TifAS St § FATART IR T 8
a) Sound / @f¥
b) Mechanical / gif3&®
¢) Chemical / @&

)

d) Electrical / fagfa

1. If the current and resistance are 10 A and 50Q
respectively. Find the potential difference.

Tfe arT 3k ufekryr s 10 T 3k 500 & dwifad afeR
AT STl

(a) 50 Q

(b) 50 v

(c)sv

(d) 500 v

2. What is the relation between electric current and
potential difference across the conductor?

e F di fagd aRT SR FwIfdd SR & i aur dee
27

(a) I/V is a constant
(b) VXl is a constant
(c) V/lis a constant
(

d) V+ | is a constant

3. Which of the following is proportional to the
Potential difference?

fofafaa & @ o9 dwfdd iR & FargaTd 872

(a) Resistivity / ufatersar

(b) Time / THT

(c) Power / 216

(d) Current / g\

4. Which of the following metals is a better
conductor of electricity?

fafafed & & it a1 [oelt $F g daes 82
(a) Silver / =idY

(b) Tungsten / &

(c) Aluminium / TegHifog

(d)

d) Copper / diar

5. Which of the following is not an insulator?

fPofafad 7 3 a9 e sgac T8 872

a
b
C
d

Paper / 1TsT
Nichrome / A
Diamond / &RT
Ebonite / TaHTEe

Py
_— ~ = —

6.18 volts = ........ x 3 ohms

a) 6 amperes / TR

b) 6 watts / @1

c) 6 milli amperes / et TR
d) 6 Joules / ST

7. If there is an increase in current in a circuit with 5

—_— o~ o~ —

ohms resistance, the voltage-

Tfe 5 3Ny ufekry are oy & ary & gfg e @, @
aleeol-

a) will decrease / & SIT@T

b) will increase / s@TT

¢) will remain the same / g&¥ &7

d) will be zero / =7 g1

Py

8. Depending on the electrical conductivity, choose
the odd one from the following options.

fagd arctiedr & smuR R, FMafaRad et 4 & faww &1
ECl

(a) Copper / diaT

(b) Graphite / 9trse

(c) Human body / A=a eRR

(d) Rubber / 3§g

9. Which of the following is a conductor of
electricity?

fufafa 8 3 $7 fga &1 gaes 22

(a) Copper / didT

(b) Sulfur / e

(c) Phosphorus / BRBRA

(d) Nitrogen / TsgIo

10. If the potential difference and current through a
circuit are doubled, the resistance of the circuit is-
Tfe faet afkay & fawar=R du1 aRT &7 AT @ faar Sme
At gy &7 ufeRiey 2-

(a) Increases / Sgar g

(b) Becomes Zero / = & ST &

(c) Remains the same / 9& @AT 2

(d) Decrease / &wHT
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11. Besides

2l

(a) Graphite / IwTse
(b) Nitrogen / ATggra=
(c) Sulfur / e

(d) Hydrogen / grggio

12. According to Ohm's law, which of the following
statements is true?

Y & Fom & oguR, Fufafed § @ a9 1 s I
8?7

(a) The amount of electric current flowing in a wire
is inversely proportional to the length of the wire. /
TS IR # vaTfed f3ed are St 7 aR & dwrs &
HATIATAT BT 1

(b) The amount of electric current flowing in a wire
is proportional to the voltage difference between
the ends of the wire. / Ue dR # yarfed fagld vare &t
ATAT IR & FRT & §iT dieest 3R & THIGUTET 8y 21

(c) The amount of current flowing in a wire is
inversely proportional to the voltage difference
between the ends of the wire. / fa=ft ar & varfaa
GRT & AT IR & TR F 9 dieest IR & Gopargardr
il 81

(d) The amount of electric current flowing in a wire
is proportional to the resistance of the wire. / f&&!
AR # yarfed fagd arT 6 AT R & ufadty & Fargardt
il 81

13. Which of the following are insulator? / fRafafad
AI P A TYAR &?

A Mica and quartzs/ HiaT 3R @@rés

B. Metal and Rubber / oTq 3R 398

C. Metals and Mica / o1q 3iR 3rys

Code:

(a) A and B only

(b) A and C only

(c) B and C only

(d) A only

14. Which of the following solutions is not a
conductor of electricity?

fRufafaa & &7 a1 e fRgd & goes T8 272
(a) Sodium hydroxide solution / HIf2aH gEgITATES
HATYTT

(b) Glucose solution / TefdIsl THTETT

(c) Acetic acid solution / Tfafes v TuTa™

(d) Hydrochloric acid solution / gEgIaRS TS
HATYTT

15.When the area of cross-section of a conductor is
doubled, its resistance becomes:

e U hsae & UR IHNT &7 &7 AT €1 SiraT 8, ar
BT UfeRTY & ST &:

a) double / EngT

b) half / et

c) four times / IR T[T

d) one-fourth / T =g

16. If the potential difference between the ends of
a conductor is doubled, what will be the effect on
the current flowing in it?

Tfe it I1es & fIRT & e favarR & giar &= far
U, | 3TH T84 dTel &IRT IR a7 WG TSTT?

(a) will be doubled / ENAT & SITQTIT

(b) will be four times / IR AT 1T

(c) will be halved / 3meT g SITQmT

(d) will be reduced / &1 & SITQT

17. Who discovered the relation between Potential
difference (V) and Electric current (I)?

Furfad iR () 3k fagga varg (311E) & diw dag &t
[T feea H1?

(a) Newton / =geq

(b) Ohm / 3gw

(c) Pascal / Rt

(d) Tesla / e&aT

18. If the resistance of the coil is 750 ohms, how
much current will flow from the 220V source to the
electric heater coil?

Tfe Biget T Ufay 750 3N &, a7 220V T A sifdcsd
B Bige | a1 de vargd gmm?

(a) 0.29 A
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(b) 2.9A
(c) 29A
(d) 0.029A

19. Ohm's law Describes the relation between

_________ & T JEY HT qUIF TRaT &
(a) Electric current, electric charge / fg[a warg, faga
THUR
(b) Electric charge, time/ saifdge amt, ¥9g
(c) Potential, electric current / F¥fad, fagd yare
(d) Potential, electric charge / ¥wrfad, fagd wwuR

20. Which of the following law describes the
relation between the current flowing through a
metallic wire and the Potential difference in its
ends?

Fufafad & @ S 91 &1 91q & IR & 967 aTdl aRT
3R 39& R & Fwifaa iR & i Jay &7 gl axar 82
(a) Ohm's law / 3\ &1 fAgw

(b) Law of charges / 3TRIal &1 faw

(c) Radiation law / fafe=or fFaw

(d) Joule's law / ST &1 fAaw

21. If the resistance of a circuit is doubled to keep
the voltage constant, the electric current flowing in
the circuit will be........

Tfg dieest o B8R [ & o fodt ufioy &1 afekig
AT o femm ST, A afvaeyr # yarfea fage awr fad
grfr?

(a) will increase by half. / 3T& & §¢ SITQMT

(b) will decrease by half / 3m€ & g STQT

(c) will remain constant. / f&R &

(d) will become zero. / T & ST

22. Often the use of current controller in electric
circuits is to control...........

SR fagd aRut # sie Fgier &1 3uam AaPa s $

(a) Temperature / dTqH

(b) Resistance / wfaRrer

(c) Electric current / faga uate

(d) Potential difference / IwIfad 3R

23. Factors affecting resistance to matter: / ardf &
UfeRYY DT gTfAd R aTel HRep:

a) Temperature / dTqH

b) nature of substance / garef &t upfd

c) conductor length / 3R @aTs

d) Area of transverse passage / 3R | &7 &
a)a,b,candd

b) only a, ¢, d

<)
d)

only a, b, c

(
(
(
(
(
(
(
(d) only aand ¢

24. The resistivity value of a substance is
determined by its conductivity. Metals with low
resistivity..........

ot ueref 1 ufRTuedr O 396! Ireedr & fAaiia
(a) behaves like alloy. / frsT uTq &t &RE TIER FRAT &
(b) behaves like a good insulation. / T 3=t
T HT RE HTER T 2

(c) behaves like a conductor. / U& &saeR &I TRE
SIER BT B

(d) behaves like semiconductor. / 4TS & RE
SITER T 2

25. The resistivity of an electric conductor depends
on: -

TS fEd areres 6 ufekterddr fRk st 2: -

(a) Area of cross section

b) All given options

) length
)

d) material

(
(c
(
26.The cause of magnetism in materials is-
Frgait & fAgq gEaa 10T FT HROT B-

a) Electrons at rest

FolgeiAl o f&Rar

b) Protons at rest

e & f&Rar

c) All stationary neutrons

Tt et & fe@Rar

d) Circular motion of electrons.

Soagil Y geira/pefta i
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27. What is in substance that makes it super
conductor substance?

Taref 7 AT T € St g arfaeeis gared ST 87

(a) The value of resistance is negative. / faRIe &7
Tl THRIHSD &

(b) The value of resistance is very low. / Ufate &T
o S HA ¢

(c) resistance will be / wfaRrer g

(d) The value of resistance will be zero / ufaRrer &1

Tl T g7

28. Which of the following has low resistivity?
fafafaa & 3 food uffiasdar a0 22

(a) Nichrome / R

(b) Glass / i

(c) Ebonite / TaHTSE

(d) Diamond / ERT

1.69 x 10" Om
1.69 x 10° Om

30. Two resistors of 20{) are connected in parallel
to each other. Then, this combination is added with
a resistance of 10 {) in series. What will be their
equivalent resistance:

20() & & UfRIIS U TR & TR J2 g 81w, =
TS BT sRaeT # 10 {) & UfaRre & Ty SsT ST 21
ST god UfeRTer a1 g:

(a) 100)

(b) 3082

(c) 500

(d) 206}

31. An element offers high resistance for
conduction is called:

T & AT I=T Uik Ua™ & aTeT ded HETdT
(a) Conduction / 9ted

(b) Insulator / gaieR

(c) Resistor / wfeRTeft

(d) Semi-conductor / IH-&HsaeR

32. If the resistance of a conductor is reduced to
half, its thermal effect will be .

gfe fradft ITete o1 ufaRier 3meT o= fear sime, v
(a) one fourth

(b) half
(c) double
(d) four times

33. What would be the resistance of such a wire in
which a 2 V potential is applied; the current flowing
through the wire is 1 A?

QA TR T UfeRrey oar g T forad 2 df emar e gl &
AR Y F&7 aTell aRT1 A B2

(a) 0.5 ohm

(b)

(c) 20 ohm
(d) 0.02 ohm

2 ohm

34. When several resistances are added to their
combined resistance is less than the minimum
resistance among them.

IS 37 Tgh Wiy A 38 iRy SR S g ar 3= @
A Uiy A &7 8T 81

(a) Parallel /HOMIR

b) Box / T

) Horizontal / &fast

)

(
(c
(d) Series / $R@eT

d

electric current / fagld uatg
Voltage / dleest

Electric charge / Saifdgs arel
Resistance / afaig

C

= —

36. What is the resistivity of insulators?
TR 6 ufaRrudar a1 872

(a) 10° Qm to 10°Qm

(b) 10 Om to 107 Om
(c)10®°Qm to 10° Qm
d) 107 Qm to 10”7 Om
(
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37. If an electrical device stops working due to a
malfunction in a parallel circuit then other all
electric equipments-

Tfd FHHTER Afde # W S SR SIS A IuH0T HTH
AT §E IR AT & a1 31 T fIgd Iuaur-

(a) Will continue to work at double capacity. / T
&TFAT TR STH AT STRT RaTT|

(b) Will not work. / &TH &} &a|

(c) Will continue to function normally. / JTHT ¥4
{ BT BT S RATT

(d) Will continue to work at half its capacity. / 3Ta-
JTefl ST J HTH HRAT Q|

38. If 2 ampere current flow through a conductor
having potential difference 4. Then resistance of
conductor will be:

Tfg fvarR aret fdt arete & 2 AfaeR oy varfea gt
B IS T ufadry g

(a)
(b)
(0)
(d)

1 ohm
8 ohm
2 ohm
0.5 ohm

39. One of the two bulbs glows brighter than the
other. Which bulb has the highest resistance?

A H A TS ToF IR B g1 § 31 THdHer 81 fva
Fod BT UfeRTy e 31fass €T 872

(a) Dim bulb

(b) The resistance of both is same.
(c) bright bulbs

(d) Brightness does not depend on resistance.

40. An electric lamp, whose resistance is 40 ohm,
and an 8 ohm conductor were added in series with
a 12V battery. What is the total resistance and
current flow of the circuit?

Ts fgd o, forweT ufadiy 40 3 8, stk uws 8 a9
FEIR BT 12V I & 1Y 7T H SIS 7T A7) Fihe FT
Pt ufadter R fege arT 0T &2

(a) 480), 4 A

(b)50Q, 0.4 A

(c) 48 ,0.25 A

(d) 40 QL/L, 0.25 A

1. Which of the following substances has the
highest resistivity?

ool § & fos e & ufekreadsar Jat a1fs 87
A. Ebonite

B. Copper

C. Nichrome

D. Glass

Ans- a

2. What will be the total resistance of the three
20Q coils connected in series?

Sofieem § FEt &9 20 Fusfaa! &1 $o feRiy feaar
BIT?

A .40 Q

B.20Q

C.e0Q

D.8ooQ

Ans- ¢

3. Which of the following components does not
affect the resistance of a conductor??
fofafaa & @ 319 a1 ges fadt ards & ufadty &
qUTAd T8 AT & 27

A. length

B. Pressure

C. Area of cross section

D. Matter

B.

4. If the three resistors of 10Q, 8 Q and 7 Q are
connected in series order, then the effective
resistance in the circuit will be ......

72 100}, 8() 3ik 700 & i wfeRIerat & Hoft oo o ST
ST, Y afvaer & wureT ufekier g .

(a) 25 Pa

(b) 25N

(c) 25

(d)25Q

5. The inverse of resistivity is called-

ORI AT BT ehH HETT -

(a) Electromagnetism / fagd de&a
(b) Conductivity / ITeTehd
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(c) counter transaction / H¥eR @eT
(d) Selectivity / Tg-THSAT

AN
symbol is used as follows:

BN\ 4'A A
Iy AR faT ST &:
(a) a wire joint
(b) A battery B
(c)
(d)

6. In a circuit diagram,

Udld &1

an electric bulb

A resistance R

7. Use of signal
in an electrical circuit. It is indicated by......

faega aRay & fAue &1 IughT| grY eufar mar g
(a) rheostat

(b) resistor
(c) wire joint

(d) electric cell

an electrical instrument used to control a current

by varying the resistance.

8. A wire with 11{) resistance is doubled its radius.
Calculate the new resistance of the wire.

11Q) IRy aTeY U R &t FASTT Y ST o e ST 21
AR & Y gfaRry 6t 7ot HY

(a) 1.5 £)

(b) 2.75 Q

(c) 1.25 £)

(d) 1.00 Q

9. The resistance of the wire is inversely
proportional to ....

AR BT YR GhHTgaTA 1T § ...

(a) Temperature / dTqHT

(b) Resistivity / ufaRrersdr

(c) Length / waTé
(d)

d) cross section area / 1T JavTT &

10. If resistance increases then electric current.
Tfe ufeRrey Sgar & aF g arml

(a) will decrease to zero / S & SITQT

(b) will decrease / g SIT@m

(c) will be fixed / g favar SIT@T

(d) will be doubled / ERTAT &Y STQT

11. According to the Joule's law of heat, the heat
generated in a circuit depends on some factors.
Which of the following can be charged in this?

I & ST 7w & gaR et uRuy d 30 ST 5%
FRS W Rk Fxedt &1 99 g 7 3 397 =97t far o
THdT 872

(a) current flowing in the circuit. / afée & varfga
YRT|

(b) Current, resistance of conductor and time
period for current to flow in it. / ¥¢, HsaeR &7
ufeRry 3R ITH Fe vared &N &1 IHy|

(c) conductor's resistance. / &saex & UfeRTeT

(d) the time period of flow of current and current. /

TIAM 3R A & UdTe 6 gHy afy

12. A wire with a resistance of 12 {) is doubled its
radius. Calculate the new resistance of the wire.
12 Q) & wfadry a1 U AR & Hsar & S aw

STaT &1 AR & Y wfekier &Y o |

(a) 2.25 Q

(b) 1.25 Q)
(c) 1.00 £)
(d)3.0Q

13. The Sl unit of electrical resistivity is

(b)
(d) Coulomb / Fets
(d) Ampere / TR

14. A wire has the resistance 9 (). Its radius
becomes double then the new value of resistance
of the wire is:

TS dR &7 ufeRrer 9f) &1 sadht fAsar g & Srdt € ar
AR & UfeRTe &1 771 I &
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(a) 1.5 £)

(b) 1.25 Q)

(c) 2.25 Q)

(d) 1.00 Q

15. The current flowing through a resistor is
inversely proportionaltoits__________.

TS UTRIES & ATIH F T84 aTei] &RT 39$

)
b) there is no change
halves
becomes three times

17. Which of the following substances has very high
resistance?

fafafaa & & o gersf &1 ufekry sga sfds 872

(a) conductor

(b) semi conductor
(0)

(d)

insulators

superconductors

18. When two or more resistors are connected
sequentially to each other, they are attached

9 & AT &1 ¥ STe UfeRIgsd Ue-gaik ¥ $ftd ¥0 T I3
BAE AAREdE _________

(a) in line

(b) in parallel
(c)

(d)

in series order

directly

19. An electric bulb is connected to a 220 V
generator. The current generated through it is
0.50A. How much power is the bulb?

U fISTeil & Fod BT 220 dloe & STReX I SIST ST &
TS ATHH T IS YURT 0.50A B| I Y Q1feh fae=T geft
27

(a) 110 Pa

(b) 110 N

(c) 110 W

(d)110)J

20. If a current of 1.5 amperes remains in a
resistance of 10 (), then what will be the amount of
energy expelled in 1 minute?

Tfg 100 & ufeRrer # 1.5 VIR 6 grT F+ 38, @ 1 fime
T frw1fad Iott &1 AT 9T gHil?

(a) 15 watts

(b) 22.5 watts

(c) 135 W

(d) 1350 W

21. In a house, 150 units of energy is used during a
month. What will be the amount of this energy in
Joules?

e R H T gEN # 150 e Foif @ gt &1 ST A 59
FoAt Y [TAT T Efr?

(a) 9x10° )

(b) 5.4 x 10° J

(c)5x10°)

(d) 10 x 10° J

1 unit of energy is equal to a 1-kilowatt hour (kWh).
Energy (E) = 250 units

1 unit =1 kWh

1 kWh = 3.6 x 10° J

Therefore,

Energy = 250 x 3.6 x 10° J

E = 900 x 10° J

E=9x10°J

Thus, the household consumes 9 x 10® J or 900 MJ

of energy in a month.

22. What does the rating of electricity displayed on
the electric bulb mean 100 watts?

ToTell & o W vl faorel &) YT &1 w7 ades @
100 aTE?
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(a) The bulb consumes 100 joules of electrical
energy per hour. / §c§ ufa ©¢ 100 S« fagld Faf &t
[UA AT B

(b) The bulb consumes 100 joules of electrical
energy per second. / S8 Ufd ¥&3 100 I fagd Fat
& @ T B

(c) The bulb consumes 100 joules of electrical
energy per minute. / §eg ufd ffiFe 100 St fagd St
&HY [ad FRAT B

(d) The bulb consumes 100 kg of electrical energy
per hour. / g5 Ufd ©¢ 100 fhat fagd St Hf wua
FT 8l

23. The commercial unit of electric energy

(b)
() kilowatt-hour / fd&efiare-ger
(d) Joule / Sfet

24. The energy consumption of a typical household
in a month is 9x10° J. What will be its energy in
units?

Us TR # U I URaR & Fotf |ad 9x10° J &1
ST Foll gebrgdl H T EIIfT?

(a) 2500 units

(b) 250 units
(c) 25 units
(d) 0.25 units

(a) Mechanical energy into electrical energy / fagd
Folt & wifasd Fat

(b) Electric energy into chemical energy / faga Faif
S Fat 7

(c) Thermal energy into electrical energy / fagd Faf
T afd Fatf

(d) Electric energy into light energy / faga Faif
&1L Foll |

(a) mechanical energy into electrical energy / faga
Foft & Tifasd Fat

(b) Thermal energy into electrical energy / fagfa Faif
T afd Foff

(c) Electrical energy into mechanical energy / Tifas
Foll # fagd ot

(d) Radiation energy into electrical energy / fagd
it § fafeszor it

27. A.C. is converted into DC by.............
TH DT e gRT ERft 7 uRafda fasar smar 1
(a) condenser

(b) rectifier

(c) amplifier

(d) filter

28. Which of the following device protect electrical
devices from voltage spikes?

fafafaa § & 9 a1 Iy faga Iyl F1 dieest
TTSE F ST 87

(a) voltage load / dieesl @il

(b) surge protector / fg 3&®

(c) heat protector / THT 3&/®

(d) current protector / fdgd &®

29. Which of the following devices is used to
measure even a very small amount of electric
current?

§gd $H fagd ar1 &1 Ao & faw Fofafea § 3 fow
ITEROT T IUTNT fvam Srar 22

(a) Galvanometer / fieaier

(b) Ammeter / THi&X

(c) Rheostat / faiara

(d) Voltmeter / areeHiex

30. Which of the following is based on the heat
effect of electric current?

fafafea § & $ faga arT & arg ware w smaria 872
(a) Microwave

(b)

(c) electric fan
(d)

Electric heater

electric bell
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31. Which of the following statements regarding
electric motors is incorrect?

Toifdes Hicd & dae # Rufaf@d § O o9 91 949 Ted
27

(a) Electric energy is converted into mechanical
energy in electric motor / fag[d Fat fagd Aex &
TifA® Foi & uRafdd grdt &

(b) Direct current and universal electric motor
These are types of electric motor / STRaE e 3R
gRadd saifdes Ak U Saifded Al & UHR &

(c) Electric motors are driven only by direct current
| e Hiex Fac el UdTe gRT TITfaid &1d &

(d) Electric motors work through the interaction
between frealme echit bields and currents to
generate force / SATdEd HIX I Ia0d A & faw
e e aées 3k ur1sht & i Ira<dia & orag 3
HTH IRA &

32. Which of the following devices is not based on
the heating effect of electric current?

fafafea § & 7 a1 Iy faga arT & Fufiy gurg
TR e T 87

(a) Electric bulb (with filament)/ s@faTe To9

(b) Electric heater / gaifdga® glex

(c) Microwave / ATgHIad

(d) Electric iron / gcifdg® 3MTWRA

33. Which of the following is an example of the
conversion of electrical energy into mechanical
energy?

fafafed & & $H g S 1 gife Faf d aga- o
Te IETER0T 82

(a) electric fan / faSTeit &7 URaT

(b) Flashlight / €=
(c) Iron / «@YeT

(d) Television / Taitfasr

34. Which of the following devices converts
chemical energy into electrical energy?
FafaRed & 3 39 a1 Iuar Tmae Foif o faga
it # afkafcid Far 82

(a) electric heater

(b) electric fan

(c) hair dryer

(d) electric cell

35. Where are electrical switches are connected?
fagga Raw Faf J gu &2

(a) live wire

(b) ground wire
(c) Neutral wire
(d) One of these

36. The value of resistance of an absolute ammeter
should be:

& RO TR & Ufekty &1 9 47 =1feu:

(a) High / s1fas

(b) Low / &5

(c) Very low / Sgd &

(d) Very high / sgd 3ifds

An ammeter should be connected in series in the
circuit, hence to get less power loss the value of
internal resistance should be as low as possible. An
ideal ammeter has zero resistance whereas a

practical ammeter has very low value of resistance.

37. Which instrument is used to measure electric
current?

TaE[d &R T ATGA & T foher Iuaor &1 Iuhi fobarm
7T 872

(a) potentiometer

(b) galvanometer
(c)

(d)

ammeter
voltmeter

38. ... Commonly used in electro-heating
devices.

........ AR W gAag!-gIfeT Iuawui & Iug far
STaT 8

(a) Nichrome / R

(b) Copper / dfaT

(c) Iron / oiYer

(d) Aluminum / TegHtfam

39. If the value of a fuse is 8A, then:
Tfe TSl T A 8A §, T
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(a) The fuse will start working only when the
current is greater than 8A / TSl T &TH T Y&
HAT 59 Te 8A T 31f9F &F

(b) The fuse will have a magnetic induction of more
than 8 / TgT & 8 . T 31fASF &1 JabIg TRUT &N

(c) The fuse will melt if the current exceeds 8A /
3R fagfd 8 A & 3ifeie &1 aY TSt feret Strar

(d) The fuse will only work if the current is exactly

8A / TS Sad avfY HTH AT 19 FE SIF 8A &

40. Why is tungsten used in electric bulbs?

f¥oTeft & Sodl § SRe &7 IuwnT Tt fsur ST 82

(a) It has a low melting point. / SHST i &H BldT
2l

(b) It has a high melting point. / $HHT a1 3=I
BT 2l

(c) It has high vapor pressure. / $8H 3=7 9197 a9
BT 8l

(d) It is resonant or sonorous. / Tg JSgd IT
efmg 2

1. Which of the following is not based on p
practical applications of thermal effects of
electricity?

fFofafed § @ 319 fAga & ardia gureat & soaeie
oA W e TE 872

(a) electric flat iron / saifdTe Tic MR

(b) electric toaster / gaifdgd® cleex

(c) electric kettle / gcifdgd Bt

(d) electric bell / foSTett &F €t

Ans. (d)

Transformer

2. Why does the core of a transformer is
laminated?

TRIBIR BT HR Affes ol 2T 872

(a) To increase the electrical conductivity of the
core / BR F faga Iraear gem & faw

(b) To increase the magnetization of the core / &R
& JEHITaRUT BT g & folw

(c) To reduce the eddy current loss / TSI add™
THAH BT HH A & faw

(d) To increase current and improve efficiency /

I ge 3R g&rdT § gUR 1 & faw

Ans. (c)

Transformer: It is a device used in the power
transmission of energy. It works on the principle
of mutual induction, where two coils are coupled,
namely the primary and the secondary coil. The
primary coil creates a varying magnetic flux, which
in turn induces an EMF on the secondary coil. If the
number of windings on the primary coil is

greater than the secondary windings, then it is
called a step-down transformer. If this case is vice
versa then the transformer is a step-up
transformer.

Transformer cores are laminated in order to
minimize eddy current loss. By providing
laminations, the area of each part gets reduced and
hence resistance will get very high which limits the
eddy current to a minimum value, and hence eddy
current losses gets reduced The laminations
provide small gaps between the plates. As it is
easier for magnetic flux to flow through iron than
air or coil, the stray flux or leakage flux that can
cause core losses is minimized.

TRIBIR: T8 Foit & fagd F=Ror & IugnT fhar S arar
IYERUT 8| T§ TRINRS W1 & FAGTd TR S0 T 8, T8t
3 $5eT YTHd g 8, T arafires oik fgedias Fsal
TTUAE et T ST ah1g YdTe 41T &, S geat o
fedoe $5d W Us SUATS & IRa axar 81 afe urgady
Fige W AR & T AFN AR fvE T, A
VY SIS THBIR HET AT 81 T T AHeAT g6 faudia
2 ) TRIPIR T WU-317 SiameR &1 &

TSt E AT BT HH P P [T ZRABIHR PR BT AfdAe
o STTar 81 AR UeH S F, TS W T &7 HH
& 7T & 3R safav ufeky sgd 3ifde & Sirar & S vt
H URT BT YW GoI a6 JIAT IR a7 8, 3R gafaw
TS T gdA BT HH 81 ST & AfEAeH el & S B
JIRTA U IR 8| TP Ih1g vaTg & faY ga1 a1 ot
& g1 & 718 S ATEIH I TATE FAT S €T ], HeH
yaTe T AT vaTeE Sit SR ST $T HRUT S ThaT & I3
Y faaT ST 21

(a) alternating current / TATIdT aRT
(b) direct current / Ueer aadTT
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(c) Both alternating and direct current / aIHI TeaTadf
3R weer gt
(d) Pulsed direct current / Wfed weger gadm

Ans. (a)

4. In an ideal transformer:

TS 3rreef eawni |

(a) there is no resistance in the coils / ®iged A H1E
gfadre 7€ @

(b) There is no loss in the core / &R & F1g JHAT &1
g

(c) The core has infinite permeability (magnetism) /
FR T 3d URITRIAT (fahed) &

(d) All of them / 37 It

Ans. (d)

5. Which of the following is not a basic component
of a transformer:

fPofafaa & @ $19 U HmR &7 gd Ued 781 8:

(a) Core / OR

(b) primary coil / UTufAe Heet

(c) Secondary coil / TTenfA® $Ea

(d) Mutual flux / IREIR® waTe

Ans. (d):

TIAHTEY & uRafdd ear g

(a) Frequency / argf

(b) Voltage / alees

(c) Current / faga

(d) both current and voltage / fagfa 3R dieest gt
Ans. (d)

Electric Bulb

7. Which of the following options is correct with
respect to metal conductors?

uTg Heaedt & Uy § RufafRd § § S a7 Qe a8
8?7

(a) In metal conductors, only the energy levels
move. / UTq HsaeR H, Hact FHoll BT TR ToAdT &

(b) In metal conductors, only electrons move.

(Positive charges are fixed in the conductor) / 4Tq

Hhede? H, el Seiaed Ioid 2| (Fsaer H TS 3L

fraa g €)

(c) In metal conductors, only the speed of the
nucleus is there. / 9T ITc®! § Hae AU & T
il 8l

(d) In metal conductors, only protons move. / €1 &
IS B Haol Wl T a=a F

Ans. (b)

8 metal is used to make the filament
of a light bulb.

ST Iod T fhetiie g9 & faw
IqTNT faT STt 21

(a) Nichrome / i

(b) Copper / dfaT

(c) Nickel / et

(d) Tungsten / @&

Ans. (d)

9. Why is the filament of the electric bulb usually
of tungsten?

fSTell & o9 3T fheTie STHAR W ETRe & ol gidT 872
(a) Due to its high conductivity and melting point /
TP I ITAGAT 3R TAIS & HROT

(b) Due to its high resistivity and melting point /
TOH! 3= ufeRrgsar ik fraem fag & sror

(c) Due to its high resistivity and boiling point /
O I=7 wfekierdsdr 3R e fig & sror

(d) Due to its high conductivity and boiling point /
TS IA ITAHAT 3R Igerd fig F FROT

Ans: (b)

Tungsten: The metal tungsten is used for

the filaments in incandescent bulbs. It has a high
melting point and retains its strength when heated.
Filaments of the light bulbs are made up of

the Tungsten element.

Its symbol is ‘W’ because of its scientific

name ‘Wolfram’ and its and the atomic number 74.
As the resistance is less, heat energy is produced
is very low which is not sufficient for an electric
bulb to glow so the resistance is kept high.
Tungsten is very resistant to corrosion and has
the highest melting point (melting point = 3695

K) and the highest tensile strength of any element.
Tungsten is used for making bulb filaments of
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incandescent lamps because it has the highest
melting point and does not melt even while it is
glowing for long hours. Therefore option 4 is
correct.

10. An electric current of 0.75A flows in a filament

of an electric bulb for 10 minutes. Find the amount
of electric charge flowing through the current.

e fagd ded & fiherde # 0.75A & fagd arr 10 fAe

T YaTfed it 81 URT & Hreny J 964 aTat faggd amaer

&I AT AT HIfS

(a) 450 C

(b) 225 C

(c) 270 C

(d) 240 C

Current (l) = 0.75 A Time (t) = 10 min = 10 x 60 sec
A current (1) is flowing through the filament of an

electric bulb for time,

I =q/t

q=Ixt

g = 0.75 x 10 x 60sec
q=1450C

The amount of electric charge flowing through the
electric current = 450 C

11. A battery illuminates a bulb. What type of
conversion occurs in this process?

T St U Fod B A HAT 31 57 ufhar # 5w vew
ST FATEROT EIAT 87

(a) Electric energy is converted into thermal
energy. / fagd a1t & ardta Faf & ufkafda fear srar
&l

(b) Chemical energy is converted into electrical
energy. / IWTAMRS ol fagd Foif & uRafdd & St 1
(c) Electrical energy is converted into chemical
energy. / faga Fat wmafe Fof & ufafdd g ot 21
(d) Electrical energy is converted into light energy.
/ faega it &Y yater Fotf # ulafda faar Smar 21

Ans. (b)

Electric Cell

12. To maintain the current in a given electrical

circuit, the cell has to spend energy

stored in it.

et few 1o faggd uRoy & aRT & 910 a3 & faw, I
Forf @ Y Ut 1

(a) Electric / faga

(b) Kinetic / mfast

(c) Chemical / Tifast
(d) Potential / dvrfad
Ans. (c)

13. Battery capacity is expressed in

Seremar __________ 7 eh &Y ST B
(a) Ampere-hour / TRflTIR-€er
(b) Voltage / alees

(c) Battery load / &c%t &g
(d) Volume of electrolyte / SaagdTge HT ATAT
Ans: (a)

14. Which of the following devices converts
chemical energy into electrical energy?
FafaRed & 3 39 a1 Iuar Tmae Foif o fagd
ol # afkafcid Far 82

(a) Transformer / eiE®GHR

(b) Battery / dedt

(c) Electric generator / fdgd Svex

(d) Wheel / afgar

Ans: (b)

15. Which of the following tips helps to maintain
the potential of the conductor?
fofafaa & @ 319 @ gits deaer & guar &) 910 e
# Heg Xl 87

(a) Ammeter / THIR

(b) Galvanometer / feamiHieR

(c) Cell or battery / I TT de&

(d) Voltmeter / areeHiex

Ans (c)

16. The easiest method of maintaining the electric
potential difference between the two ends of a
conductor is to connect it between the terminals of
________ to get a continuous flow of current.
et arete & a1 RIRT & i faga favar & s910
R BT T ST AT e ________ & effat

& i Sig faaT SIY d1fes ¥RT &7 U Tdd UdTg UTe &F
T |
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(a) Voltmeter / aTeeHieR
(b) Ammeter / TR

(c) Rheostat / faieara
(d) Battery / dedt

Ans. (d)

Magnetism

17. Which is not attracted by a simple magnet?
Tdh HTERUT e gRT B TSN T8l BT 872

(a) Iron / wirgr

(b) gilt (nickel) / fiee ()

(c) Bronze / &ieg

(d) Steel / @&

Ans: (c)

18. Which direction does the freely suspended
magnet indicate?

Wd7 ¥0 A afad o9& foa e & g a=ar 872
(a) East-West / gd-afgu

(b) North-South / 3tR-gfgur

(c) east-north / gd-3R

(d) west-south / afgw-afaor

Ans: (b)

19. The dimension of Magnetic field intensity is -
I &7 T e T T @ -

(a) IL

(b) IPL

(c) IL7

(d) 1L

Ans: (c)

20. Vacuum is considered as-

Rafa & T ST 8-

(a) Non-magnetic material / TR-gadrg amaft

(b) Diamagnetic material / UfadsdTa T

(c) paramagnetic material / RTAfes TTft

(d) Rebalanced magnetic material / 3rqfeid 6T
[rft

Ans: (a)
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